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Question Number : 1 Question Id : 64635011917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is an example of higher order of cognitive learning outcome?
(1) Learning of facts and their sequences
(2) Learning roles and action sequences
(3) Learning of concepte and abstractions

(4) Learning of awareness and valuing

Options:
64535046599, 1



E4E350463900. 2
645350463901, 3
645350463902, 4

Question Number : 1 Question Id : 64635011917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535046899 1

645325046900, 2

64535046301, 3

64535046302, 4

Question Number : 2 Question Id : 64635011918 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following i=s the kev behaviour contributing to effective teaching?
(1) Summarising what was teld by a student

{2) Encouraging students to elaborate on an answer

(3) Using direct and indirect questioning
{4} Explaining concepts in a la gic al step b:.' step presentation
Options:

645350463903, 1
645350463904, 2
64535046305, 3
E4E3504E8306, 4

Question Number : 2 Question Id : 64635011918 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frafetan 5 |+ WA At | e e S o5 17
(1) Torsh fomnefi gro =8 wh = =1 =0 F=m =
(@ = = = ofem frrs 3 Rl = siafm ==
(3) WM W eI WA WA i AEATE I FE
(4) = wef g mies w9 4 s i s s

Options:

64535046903, 1
4835046904, 2
4535045305 2
64535046306, 4

Question Number : 3 Question Id : 64635011919 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Instructions which encourage live participation and interaction through online classes are

called

(1) Synchronous instructions (2} Asvnchronous instructions

{3) Traditional instructions (4) Theoretical instructions
Options:

E4E350463907. 1
64535046908, 2
645350463909, 3
645350463910, 4

Question Number : 3 Question Id : 64635011919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535045307, 1
E4E35046908. 2
E4E350463908. 3
64535046910, 4

Question Number : 4 Question Id : 64635011920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What are the elements of evaluation plan?

ia) Purpose
{h) Resources
ie) Analysiz

(d) Aunthority

Select the correct answer from the options given below:

(1) (a) and (c) (2) (b)only
(3) {b), {e) and (d) 4) (a), (b) and ()
Options:

645350465911, 1
E4E35046912. 2
E4E35046913. 3
64535046914, 4

Question Number : 4 Question Id : 64635011920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535046911, 1
64535046912, 2
64535046913, 3
E4E35046914. 4

Question Number : 5 Question Id : 64635011921 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which tvpe of evaluation focusses on the identification of deficiencies and difficulties of the
learner?

(1) Summative evaluation
(2) Follow up evaluation
(3) Diagnostic evaluation
(4)  Criterion — referenced evaluation
Options:
645350464915 1
64535046916, 2
64535046917, 5
64535046915, 4

Question Number : 5 Question Id : 64635011921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350469151

64535046916, 2

64535046917, 3

G4AE35048915. 4

Question Number : 6 Question Id : 64635011922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Position papers are

{1) Compiling of academic articles

{2y Providing review articles

{3} Offering a synopsis of an extended research
4 Highlighting of izsues and depiction of status

Options:

64535046919, 1
64535046920, 2
64535046921, 5
64535046922, 4

Question Number : 6 Question Id : 64635011922 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535046919, 1
E4E35046920. 2
64535046921, 5
64535046922, 4

Question Number : 7 Question Id : 64635011923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Casze studies are

(1) Studies conducted in areas of genetics and microbiology

{2) In-depth examination of a subject and its related conditions
(3)  Areport onthe exizsting socio-political condition

4) Specialized research in the areas of health and sanitation

Options:

64635046923, 1
64535046924, 2
64535046325 =
E4E35046926. 4

Question Number : 7 Question Id : 64635011923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
4635046923, 1
64535046924, 2



EAE35046925. 3
EAE35046926. 4

Question Number : 8 Question Id : 64635011924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A hypothesis iz

(1) A certain and established finding

(2) A part of the research question

{3} A strategv of evaluating data

(4) A tentative statement providing an explanation
Options:

64535046927, 1
645350465928, 2
E4E35046929. 3
E4E35046920. 4

Question Number : 8 Question Id : 64635011924 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535046927, 1
64535046928, 2
64535046329 2
4835046920 4

Question Number : 9 Question Id : 64635011925 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tertiary source of data is
(1) Films, hoardings and posters
(2 Government gazette, newspapers and magazines
(3)  Information derived from both primary and secondary sources
) Data collected from policy papers

Options:

4635046951, 1
64535046932, 2
64535046933 2
64535046334 4

Question Number : 9 Question Id : 64635011925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

646350465931, 1

64635046932 2

E4E350464933 3

64635046934, 4

Question Number : 10 Question Id : 64635011926 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
From the following list identify the qualitative research characteristics and select vour
answer from the codes given below:
(1} Creating purpose statements and research gquestions
(ii) Stating the purpose and rezearch questions in a broad way
iiii) Cellecting data based on words from a small number of individuals
(iv) Collecting numeric data and statistical analyeis

iv) Using text analvsis and interpreting larger meanings of the findings

Code:

(1) (ii), (iii) and (v) (2) (1), (ii) and (iii)

(3 (1), (ii) and (iv) (4) (i), (i11) and (v)
Options:

645350459355, 1
E4E35046936. 2
E4E35046937. 3
64535046928, 4

Question Number : 10 Question Id : 64635011926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535046935, 1
6453504659356, 2
E4E350468937. 3
E4E35046935. 4



Sub-Section Number: 2
Sub-Section 1d: 646350563
Question Shuffling Allowed : Yes

Question Id : 64635011927 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehension

ERead the following passage and answer gquestions

Ferhaps what bothered the media in 19705 was the shift in liberty being suggested. For
centuries, journalists had operated on the basis of negative liberty, or freedom from external
restraints. Suddenly, however, the thrust was positive freedom, a freedom for pursuit of
zome predetermined goals. This new social responsibility zeems grounded on a school of
thought that sees negative liberty as insufficient and ineffective, somewhat like telling
people they arve free to walk without first making sure they are not crippled. Who better than
government is able to provide humanity with appropriate means? Government, even a
democratic government, iz seen by social responsibility adherents az the only foree strong
encugh to guarantes effective operation of freedom. This doss not mollify observers who find
zocial responsibility to be only slightly disguised version of authoritarianism Media
philosopher John Merrill has been one of the most outspoken critics of the theory. To him,
the proposition that pluralism of ideas should be governmentally mandated is ludicrous.
Journalists, he savs, must retain their freedom to make their own news and editorial
judgements. Even well intentioned attempts by outside groups seeking media improvement
are zelf serving, and inevitably lezsen the autonomy of journalists, Merrill maintains.
This leads us to the issue of media autonomy.

Sub questions

Question Number : 11 Question Id : 64635011928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the basiz of the operation of journalists earlier?

(1) Freedom of limited choices (2) Social responsibility
(3) Free from outside pressure (4) Government eontrol
Options:

64535046939, 1
645350465340, 2
E4E35046941. 3
E4E3504694%, 4

Question Number : 12 Question Id : 64635011929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Poszitive freedom means

(1) Grounded thought {2) Purszuing eertain set goals
(3 Freedom with conditions (4) Providing identified means
Options:

E4E35046943. 1
64535046944, 2
64535046945, 3
64535046346, 4

Question Number : 13 Question Id : 64635011930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Some scholars consider social responsibility aspect of media as

(1) Negative freedom (2) Pluralism
(3) Democratization of media (4) Authoritarianism
Options:

64535046947, 1
64535046948, 2
645350465949, 3
E4E35046950. 4

Question Number : 14 Question Id : 64635011931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to, John Merrill, seeking improvement in media, is

(1) Appropriate (2) Well-intentioned
3 Inevitable (4) Self-serving
Options:

64535046951, 1
64535046952, 2
64535045952, 3
E4E35046954. 4

Question Number : 15 Question Id : 64635011932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The passage eritically analvses
(1) Operation of journalists
(2) Mandate for government
(3) Social responsibility theory of media
4 Remimented autonomy of journalists
Options:
E4535046955. 1
E45250465958. 2
E4535046957. 3
64535046955 4

Question Id : 64635011927 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635011928 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
RS T & FTE R H A R oy

(1)  =ifem Rees &1 = () arntas swEtaE
(3) = TEE &) T
Options:

64535046939, 1
64535046940, 2
64535046941, 3
E4E35046947, 4

Question Number : 12 Question Id : 64635011929 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535046943, 1
4835046944 2
4535046345 =2
64535046946, 4

Question Number : 13 Question Id : 64635011930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535046947, 1
645350465948, 2
E4E35046949. 3
E4E35046950. 4

Question Number : 14 Question Id : 64635011931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535045951, 1
E4E35046952. 2
E4E35046953. 3
64535046954, 4

Question Number : 15 Question Id : 64635011932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64635046955 1

646535046956, 2

64635046957 3

6453504654955, 4

Sub-Section Number: 3
Sub-Section 1d: 646350564
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635011933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Assertion (A):  Media entertainment does not enhance the cultural level of society.

Reazon (R): Most media entertainment encourages ezcapism, not content guality

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) 15 true, but (R) 1s false

i4) (A) iz falze, but (R) iz true

Options:

64535046959, 1
64535046360, 2
4835046961, 2
64535046962, 4

Question Number : 16 Question Id : 64635011933 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4635046959, 1
64535046960, 2
64535046961, =
64535046362, 4

Question Number : 17 Question Id : 64635011934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Communieation through colours can result in
{a) Aesthetic codes
{b) Cultural codes
{e) Semantic codes
(d) Binaryv codes

Choosze the correet answer from the options given below:

(I} (a)and(d) 2y (b) and {(c)
(3)  (b)and (d) 4} (a)and (b)
Options:

645350465962, 1
E4E35046964, 2
E4E35046965. 3
EAE35046966. 4



Question Number : 17 Question Id : 64635011934 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35046963. 1
64535046964, 2
645350463965, 3
64535045366, 4

Question Number : 18 Question Id : 64635011935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the communication process, signs derive meanings through
(1) The subjectivity of various components
(2) The objectivity of the decoder
(3 The network of inter-relations

4) The neutrality of the channel

Options:

4535046967, 1
64535046968, 2
64535046369, o
64535046370, 4

Question Number : 18 Question Id : 64635011935 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
= wfeem & S faem ol v w #7
(1) fafes smma 1 safeem o
2 s (fewrm) 9 sefem =
(3) Fm-TE % Ao E
4 T FmamE

Options:

64535046367, 1

64535046968, 2

64535046969, 3

E4E250485970. 4

Question Number : 19 Question Id : 64635011936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Language of communication also constitutes

(1) The random world {2} The social world
(@)  The divine world {4} The unsanctified world
Options:

645350465971, 1
EAE35046972. 2
E4E35046973. 3
E4E35046974. 4

Question Number : 19 Question Id : 64635011936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35046971. 1
64535046972, 2
64535046973, 3
645350465974, 4

Question Number : 20 Question Id : 64635011937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Connotative communication inside the elassroom is

(1) Direct (2) Critical
(3) Implicit (4) E=xplicit
Options:

64535046975, 1
645350465976, 2
E4E350468977. 3
E4E35046978. 4

Question Number : 20 Question Id : 64635011937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E35046975. 1
E4E35046976. 2
B4E35046977. 3
64535046975, 4

Question Number : 21 Question Id : 64635011938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Choosze the mizsing term out of the given alternatives : QPO NML, EJI,

(1) HGF (Z) CAB
(3) JEL 4y GHI
Options:

645350465979, 1
E4E35046980. 2
E4E35046981. 3
E4E35046982. 4

Question Number : 21 Question Id : 64635011938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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QPO, NML, KJI,

(1) HGF (Z) CAB
# JKL (4 GHI
Options:

64535046979, 1
645350465980, 2
E4E35046981. 3
EAE35046982. 4

Question Number : 22 Question Id : 64635011939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The zum of all even natural numbers between 1 and 21 is

(1) 3280 (Z)y 3321
51] 1646 (4) 1840
Options:

64535046953, 1
64535046984, 2
64535046985, 3
64535045956, 4

Question Number : 22 Question Id : 64635011939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
dEma 1 @i 81 ¥ 4= = =9 mgfos Sema = oam

(1) 3280 (2 3321
(3 1646 (4) 1640
Options:

E4E35046983. 1
E4E35046984. 2
64535046985, 3
64535046956, 4



Question Number : 23 Question Id : 64635011940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a bag, there ave coins of 5 ps, 10 ps and 25 psin the ratio of 3:2:1. If there are Re. 80 in all
how many 5 ps coins are there?

(1) 100 (2 200
(% 300 (4) 400
Options:

E4E35046987. 1
64535046988, 2
64535046985, 3
64535046930, 4

Question Number : 23 Question Id : 64635011940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 100 (& 200
(3 300 (4 400
Options:

E4E35046987. 1
64535046988, 2
64535046959, 3
64535046930, 4

Question Number : 24 Question Id : 64635011941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mansj's commizsion is 10% on all sales upto Rs. 10,000 and 5% on all sales exceeding this.

He remits Rs. 75,500 to his company after deducting his commission. The total sales will
come out to be

{I) Rs. 78000 {2y Rs. 80,000
(3  Hs 85,000 {4y Rs, 90,000
Options:

645350469591, 1
64535046932, 2
64535045933, 3
E4E35046954. 4

Question Number : 24 Question Id : 64635011941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
F T 10,000 7= $ fikt & == 1 wiioe 10% @ v o #1500 F sme w9 5% R
W FHEH HEH % AE A% FFH FFE F T 75,000 woR w0 #) T 1 % ae0ta am 3y

(1) ¥ 78,000 {2) %30000
(3 ¥ 85,000 4) T 20,000

Options:



E4E35046991. 1
64535046982, 2
64535046983, 3
64535046934, 4

Question Number : 25 Question Id : 64635011942 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
The simple interest on a certain sum of money for 3 vears at 4% per annum is half the

compound interest on Re. 2,000 for 2 vears at 10% per annum, The sum invested on simple
interest iz

(1) Re. 8750 (2) Re. 1,750
(3 Rs. 2,500 (40 Rs. 3,500
Options:

64535046955, 1
64535046936, 2
645350465937, 3
E4E350469395. 4

Question Number : 25 Question Id : 64635011942 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

foredt vt w 4% ot & T E 3 & = mumm s € 2000 $ geuin R Tw 10% wids S m e 2
i ¥ Twglg TF F A R WmuT e § ey T e #5 i am A7

(1) T 8,700 2y TL7a0
)] ® 2,500 {4y * 3500
Options:

E4E35046995. 1
E4E35046996. 2
64535046957, 3
64535046938, 4

Question Number : 26 Question Id : 64635011943 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

If proposition ‘some milk is eurd’ is taken to be true then which of the following propositions
can bE' fﬂlEE?

(1) No milk i= curd {2y All milk is curd
(3 Some curd is milk {4} Some milk is not curd
Options:

E4E350469945. 1
E4E35047000. 2
64535047001, 3
64535047002, 4

Question Number : 26 Question Id : 64635011943 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes

Yes



Itz 7 T To T T AW ¥ F W 9 9w Fetatan suR a5 2 | e wm e

(1) wrdgm o o wm R (2) =+ 78 o g R
(3 FowHwEmY 4 ¥o 78 = o gm
Options:

E4E35046995. 1
E4E35047000. 2
64535047001, 3
64535047002, 4

Question Number : 27 Question Id : 64635011944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two premises with four conclusions drawn from them. Which of the
following conclusions eould be validly drawn from the premizes?
Premises: (i) All cats are dogs

(11) All dogs are cows

Conclusions:

{a) All cats are cows
(b} Some cows are cats
{c) All dogs are cats
(d) Nocow isdog

Select the correct answer from the options given below:

(1) (b, (c) and (d) (2) (d)only
3) (a)and (b) 4 (b)and (d)
Options:

E4E35047003. 1
E4E35047004. 2
64535047005, 3
64535047006, 4

Question Number : 27 Question Id : 64635011944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

9/ 7 e are e e # Faam A e e o #) o Al | Reetehan 9 8 w90 e
et = o E7

AT A (1) = g 54 )
(ii) =] Eu_;l T #

foreprd - (a) =t fafzsi T 8)
(b) F T Tt £
(c) =it %= Tagdh &
(d) = o T R

Jr= fim o faeed O O ot 3w 1 == Sfa

(1) (b}, (c) =i (d) (2) === (d)
(3) (a2 b 4 (b)#id)
Options:

E4E35047003. 1
E4E35047004, 2
64535047005, 3



EAE3504 7006, 4

Question Number : 28 Question Id : 64635011945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which method of arriving at knowledge the emphasiz is on both proceeding from

particular to general and from general to particular in a combined way?

(1) Inductive method
{2) Deductive method
{3) Scientific method
{4) Analogieal method
Options:
E4E25047007 1
64535047008, 2
64635047009 2
64535047010 4

Question Number : 28 Question Id : 64635011945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A 7% T4 1 fEm fafa § dgw e @ fafe & anrm @ o ofn e @ fafm o smoEm W
Ta fom 9 2

(1) s iy

(3 T i

(3) e fafy
(4 HgEs fafa
Options:

64535047007, 1
64535047008, 2
E4E35047008. 3
EAE35047010. 4

Question Number : 29 Question Id : 64635011946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identifj.‘ the reasoning in the follawing arguments

‘A pilot without flight plans is like an artist without paints’.

(1) Analogical {2}  Deductive
(3) Induetive (4) Hypothetical
Options:

64535047011, 1
64535047012, 2
EAE35047013. 3
EAE35047014. 4



Question Number : 29 Question Id : 64635011946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Frtalias 7= aag § T & TH0 W TEaE ey

fam el 7=m O aren R, TION % 9 FEET & TE g A

(1) o= (2) T
{3} AT (4 O
Options:

E4E35047011. 1
E4E35047012. 2
64535047013, 3
64535047014, 4

Question Number : 30 Question Id : 64635011947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The proposition ‘some trees are green’ is equivalent to which of the following propoesitions?
{a) Many trees are green

(b}  Some green things are trees

() Some green things are not non-trees

id) Trees are usually green

Select the correct answer from the options given below:
(1) (&), (&), () and (d)
(2)  (b)and (d)
(3 {a) only
4 (c)and (d)
Options:
646535047015 1
64835047016 2

64535047017, 3
E4E35047015. 4

Question Number : 30 Question Id : 64635011947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T o Yo R ¥ Frefofen § @ fe vhew ¥ wed 27
(&) = Tw

(b) %= 7l == 9z 4|

(©) %o ¥ = -1 7 #

(d) W F A A

gt fom o forre & & wh T TR i
D (@), (), (@) #h(d)

(2) (b))

(3) wEr(a)

@ (o) ()

Options:

64535047015, 1
64535047016, 2
64535047017, 2
4835047018 4

Sub-Section Number:
Sub-Section 1d:
Question Shuffling Allowed :

4
646350565
Yes

Question Id : 64635011948 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (31to 35)
Juestion Label - Comprehension

Consider the following two tables (I and II) that show the percentage wise distribution (%) of
the number of laptops sold by a shopkeeper during a period of six months from April to
September 2018 and the ratio between the number of laptops sold of brand HF (H) and
brand DELL (D) during the same six monthe A total of 45000 laptops have been sold during
these six months. Study these tables I and II and answer the questions that follow

I. Sale of laptops Month wise II. Laptops Brand Ratio
Name of Month | % of Lapteps | | Name of Month | Ratis
April 17 H|D
May 22 April 8|7
June 25 May 4156
July g8 June 3|2
August 12 July 7]5
September 16 August 718

September 7|9

Sub questions

Question Number : 31 Question Id : 64635011949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is the ratio of the number of laptops sold of brand D during April to those sold during
September of the same brand?

(1) 119 : 145 (2 116:1356
(3) 119 : 135 4 119:130
Options:

64535047015, 1
64535047020, 2
64535047021, 3
EAEZ5047022. 4

Question Number : 32 Question Id : 64635011950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If 35% of the laptops =old of brand H during August were sold at a discount, how many
laptops of brand H during that month were sold without a discount?

(1) 8a2 (2y 1835
(3) 1638 4 B85
Options:

64535047023, 1
64535047024, 2
EAE35047025. 3
EAE35047026. 4

Question Number : 33 Question Id : 64635011951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If the chop keeperearned a profit of ¥ 434 on each laptop cold of brand D during July, what
was his total profit earned on the laptops of that brand during the same month?

i1 T 6,51,900 {(2) ¥ 6465000
(3 £ 6,49, 500 {4) T 6,51,000
Options:

EAE35047027. 1
E4E35047028. 2
64535047025, 3
64535047030, 4

Question Number : 34 Question Id : 64635011952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The number of laptops sold of brand H during April is approximately what percent of the
number of laptops zold of brand H during September?

() 110 (2) 140
(3) 130 4 130
Options:

64535047031, 1
EAE35047032. 2
E4E35047033. 3
64535047024, 4



Question Number : 35 Question Id : 64635011953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is the total number of laptops gold of brand D during May and June together?

(1) 9800 (%) 10000
(3) 10500 (4) 15000
Options:

E4E35047035. 1
E4E35047036. 2
64535047037, 3
64535047038, 4

Question Id : 64635011948 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label @ Comprehension

Frafafian & mifemmad (1 o I1) w0 fem 0 o oim, 2018 & fiman, 2018 7% & o 9+ &
2T T R 0 F T Aveia i e w1 wiveran G (% 9) i e #) e f, 59 5w
= ¥@y F 2= #vs HP (H) # #vs DELL (D) ¥ = 7o @y 1 w2 5 4= o5 = o
T T 1 o % e % 45000 Seey # fa ) wien [ et W e woTan Se
fom o w9 =1 I 2

I #mefe & ofmam fslt | | L @y wfvsi =1 o
E A A % | | Wi o A | aEem
e 17 H|D
i 22 April 8 | 7
= 25 May 4 | D
ﬁﬂ'li 8 June 312
T 12 July T|6
fean 16 August 7(8
September T |=

Sub questions

Question Number : 31 Question Id : 64635011949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
SMEtE I DEs R MATN A sh i e s i R M A T =

e R

{1y 119:145 {2 116:135
(3) 119: 135 i4) 119:130
Options:

64535047019, 1
64535047020, 2
EAE35047021. 3
BAE35047022. 4

Question Number : 32 Question Id : 64635011950 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



R F g ars H % dwfu 35% % foms (o) e ma s sfH s g as H+
faem dwefy famn frome % 39 mo?

(1) asa2 (& 1635
i3 1838 (4) 885
Options:

64535047023, 1
64535047024, 2
EAE35047025. 3
EAE35047026. 4

Question Number : 33 Question Id : 64635011951 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afg, TR F For % 2 wive D # wed Aedt # W T 434 1 e 1 W s e F 2
T AivE & AT W e o W fEen e

(1) ¥ 6,51,900 (2) T 646500
{3) ¥ 6,40,500 {4 ®§,51,000
Options:

64535047027, 1
64535047028, 2
E4E35047029. 3
EAE35047030. 4

Question Number : 34 Question Id : 64635011952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ferer & 2 wfs H 5 39 e fwfe 5 guw 5 wim fey afrmm =9 #ive 5 9 sfo d 39 my

(1) 110 (2) 140
{3 130 4 130
Options:

64535047021, 1
E4E35047032. 2
EAE35047033. 3
EAE35047024. 4

Question Number : 35 Question Id : 64635011953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=i #R 97 o wE w e @ve D % % e ae i

(1) 9500 (2) 10000
3 10500 (4) 15000
Options:

E4E35047035. 1
E4E35047036. 2
64535047037, 3



EAE35047035. 4

Sub-Section Number: 5
Sub-Section 1d: 646350566
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635011954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Why would BCC: be used in an &-mail?

(1) BCC: allows the recipient to identify all the other recipients in the list when a group
email address is used

(4] BCC: allows the sender to indicate who the email is for if there is more than one

recipient

(3 BCC: allows the sender of a message to conceal the recipient entered inthe BCC: fisld

from the other recipients
i4) BCC: allows recipients to be vizible to all other recipients of the message
Options:
E4E35047033. 1
E4E35047040. 2
64535047041, 3
E453504704%, 4

Question Number : 36 Question Id : 64635011954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
7w § BCC : =1 waim =9 fem = &7

(1) == e @ Fm = v fem = 2 1 Sfid BOC - % e 9 99 9 & o = sfatr 4
TR ¥ HET B

F L Y

2 TEoswidsiEiiMEH ARG IEECC. T EMTE R it
T s fom 2

(3) ol &89 = I9s BCC: % wam & BCC : Fivs & wiae St 36 we=m o= wfufrai & foar e
R 3

(4 HfEft BCC . =1 wam = e &9 & o wofi sl =50 2w wen €

Options:

C4E250470=9 1

c4dez2E047040, 2

CAE3E047041. 2

CAEZE047042 4

Question Number : 37 Question Id : 64635011955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



With respect to computers, which one of the following best deseribes phishing?
{1} A malicious program installed on a svztem that staye concealed to avoid detection

tﬁj A method of b}'passing normal authentication prucedureﬁ. over a connection to a

network
(d) A tvpe of unsolicited bulk email of identical messages sent to numerous recipients

(4) An attempt to acquire sensitive information for malicious reasons, by masquerading
as a trustworthy entity
Options:
E45350470435 1
64535047044 2
64635047045 2
64535047046, 4

Question Number : 37 Question Id : 64635011955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fro & wed |, Featatas 5 @ i9-w feHm (phishing) 1 wEiias dw =9 § sanEaara & 27

() == fores = omntm o glen o w1 v o E® a=e % fom e v w2
(2) fodh Sk & e S5 W oraen e W W aries w5 A
(3) = IR % TS T wee we (BEE) W T W w1 e av e

(4) o Fvawa zaltE & =9 H SUEY T gHiG B HEEATTE SHET T S w1
Options:
64535047043 1
64535047044 2
64535047045 =
G4AE35047046. 4

Question Number : 38 Question Id : 64635011956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is an example of proprietary system software?

(1) Linux (2} Mierosoft Internet explover
()] Microsoft office (4 Microsoft windows
Options:

E4E35047047. 1
E4E35047048. 2
64535047045, 3
64535047050, 4

Question Number : 38 Question Id : 64635011956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafafian & § Fi3-m W fows Siwam w1 e

(1) e (2) =TSR T W
(3)  wrERmEiE WEE (4) = e
Options:

64535047047, 1
64535047048, 2
64535047049, 3
E4E3504 7050, 4

Question Number : 39 Question Id : 64635011957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Jatin’z laptop has a LCD sereen. The acronym LCD stands for :
(1) Light Crystal Display

(2) Liquid Compact Display

(3 Light Compact Display

(4) Liguid Crystal Display

Options:

64535047051, 1
64535047052, 2
64535047053 2
E4E35047054. 4

Question Number : 39 Question Id : 64635011957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= % whedte § U T H % S 31 LCD Fratatan o | feee diamen 27

(1) vz fFemm f=@t (Light Crystal Display)

(2 ffre =iedge 529 (Liguid Compact Display)
{3) = w9z 7= (Light Compact Display)
(4) fafre frmzw feot (Liguid Crvetal Display)

Options:

64535047051, 1
64535047052, 2
64535047052 o
64535047054, 4

Question Number : 40 Question Id : 64635011958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A computer network which is used within a building is called a

(1) WAN
(2) MAN
{3  LAN
i4) SAN
Options:

64535047055, 1
E4E3504 7056, 2
EAE35047057. 3
E4E35047058. 4

Question Number : 40 Question Id : 64635011958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

forelt wam & o T SETen SRR Ao 27

(1) WAN
2) MAN
(3) LAN
4) SAN
Options:

64535047055, 1
64535047056, 2
64535047057, 3
E4E3504 7058, 4

Question Number : 41 Question Id : 64635011959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following dizasters belongs to the category of nuclear disasters?
(a) Fukushima dizaster

(b} Chernobv] disaster

() Three mile Island incident

{d) The love canal disaster

Choose vour answer from the options given below:

(13 (&), (b) and (e)

(2 (a), (B) and (d)

(3] (a), (c) and (d)

(4) (b), (e) and (d)

Options:
64535047059, 1



EAE35047060. 2
64535047061, 3
GAE3504706%. 4

Question Number : 41 Question Id : 64635011959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Frafafes & 8 33 = s ity s 0 a0l = st 27
(8) FEEE A
(b) =T ATy
() ot mrgw wedE W
() T2 v e feamm
fret fam o Fedl 5 9 9 3 1 =99 ey

Tz
() (a), (b) 3 (e
2 (a), (b) ()
3 (a), () #(d)

4 (b}, (c) = {d)

Options:

64535047059, 1
64535047060, 2
64535047061, =
48350470682, 4

Question Number : 42 Question Id : 64635011960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Statement I -  Most of the member countries in the International solar Alliance are
located between the tropic of cancer and tropic of Capricorn

Statement [I — Japan is a member country of the International solar alliance,

Which of the above statement isfare correct?

(1) I only {2y IIonly
(3 EothI and II (4) Neither I nor II
Options:

64535047063, 1
64535047064, 2
64535047085, 3
EAEZ504706E, 4

Question Number : 42 Question Id : 64635011960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047063, 1
64535047064, 2
E4E350470E5, 3
EAE35047066. 4

Question Number : 43 Question Id : 64635011961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements in the context of Millennium Development Goals (MDGs)
adopted by the United Nations

{a) [Eradicate extreme poverty and hunger
)  Impreve maternal health

i} Responsible consumption and produetion
id) Reduce child mortality

Choose the correct answer from the options given below

(I) (&), (b)and () (2) (b)), (e} and (d)
(3  (a), (b)and (d) (4) (a), (c) and (d)
Options:

64535047087, 1
64535047068, 2
64535047069, 3
EAEZ5047070. 4

Question Number : 43 Question Id : 64635011961 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HF TE G A T TEere P med (MDG) % = & Pttt we w e fif?
{a) =% fefm ot el = =g
(b) T TEEE H R
(€) SotEmamET S #Hit semeA
(d) =TE FE-TF FFA
dret Tom o fereal & © W 99 w1 W iy

T
(1 (a), (b) ¥ () (2 (), () #(d)
3 (), (b) 3 () (4 (a), (c) 3 ()

Options:

64535047087, 1
64535047068, 2
64535047069, 3
EAEZ5047070. 4

Question Number : 44 Question Id : 64635011962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Assertion (A) - Night time temperatures in the central parts of a city are generally higher

than those over the surrounding rural areas

Beason (B)- Radiation losses over the urban areas are less than that over the rural

areas

Choose the correct answer from the options given below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (4)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(:3) (A) is true but (R) is false

(4) (A) iz falze but (R) iz true

Options:

64535047071, 1
E4E35047072. 2
E4E350470732. 2
4535047074, 4

Question Number : 44 Question Id : 64635011962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At (A) - Tt wrer = To7 W E T F NS SU0-TT0 F TEW A9 % SSwieE e o
e W At B 2
T (R): TE B H gETEl TErR R W &6 § geE e wEE | R g 2

4= i o faeewl 5§ W I = w99 wian
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Options:
64535047071, 1
64G35047072. 2
E4AE35047073. 2
64535047074, 4

Question Number : 45 Question Id : 64635011963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The Pariz Agreement aims to limit the temperature rise in thiz centurv by how many

degrees Celsius above the pre-industrial levels?

(1) 1°C & PC
3 05°C 4 3°C
Options:

E4E35047075. 1
EAE35047076. 2
BAE35047077. 3
64535047075, 4

Question Number : 45 Question Id : 64635011963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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FET
@ 1°c @ 2C
(3 0.5°C 4 3°C
Options:

64535047075, 1
64535047076, 2
E4E35047077. 3
EAEZ5047075. 4

Question Number : 46 Question Id : 64635011964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following coordinates, promotes and funds research activities of all =oeial
sciences disciplines?
(1) ICPR, New Delhi
(2) ITAS, Shimla
1] ICS5R, New Delhi
(d) NUEPA, New Delhi
Options:
E4E25047073 1
E4535047080. 2

64535047081, 3
64535047052, 4

Question Number : 46 Question Id : 64635011964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Pt & 2 s gwn oo fama 6 oot srened <6t s wiafata =0 o = 2, 391 mmmE

1 2 st T fEm = R
(1) ICPR, # f&di
(2)  IIAS, fimen

(3) ICSSR, 7¢ figt
{4 NUEPA, = &
Options:
CdE3E0470749 1
CAEZE04A7080, 2

E4E35047081. 3
EAE35047082. 4

Question Number : 47 Question Id : 64635011965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

"Gvanvami” launched by IGNOU to cover the educational needs of India refers to
(1) Satellite based edueational T V. channel

(2) Educational F.M. Radic network

{3) Global imitative of academic networks
{4 MOOCs
Options:

64535047083, 1
64535047054, 2
64535047085, 3
EAE3504 7056, 4

Question Number : 47 Question Id : 64635011965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
64535047053, 1
64535047054, 2
64535047085, 2
GAE3E047026. 4

Question Number : 48 Question Id : 64635011966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A special focus on the problems of examination svstem of India formed a part of which one of
the following reports?
(1) Report of the Caleutta university commission
(2 Report of the University Education commission (1964-66)
] Hartog committee report
i4) Report on standards of University edueation UGC (1965)
Options:
E4E250470587. 1
E4535047088. 2

64535047085, 3
64535047030, 4

Question Number : 48 Question Id : 64635011966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

4535047057, 1
64535047088, 2
64535047089, o
64535047090, 4

Question Number : 49 Question Id : 64635011967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following universities is not among the first three that were established

during 18577

(1) Caleutta

(2) Bombay

(3 Delhi

() Madras
Options:

E4535047091. 1
64535047082, 2
64535047033, 3
64535047034, 4

Question Number : 49 Question Id : 64635011967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047051, 1
645350470382, 2
64535047033, 3
E4E3504 7054, 4

Question Number : 50 Question Id : 64635011968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following Ancient Indian universities, the culture and civilization of Tibet
was bult mainly through the writings of the scholars?

{(l) Nalanda
2 Vikramsila
{3y  Jagaddala
{4y  Mithila
Options:
4535047035, 1
E4B2504708E, 2

EAE35047037. 3
E4E350470398. 4

Question Number : 50 Question Id : 64635011968 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1 T

(2)  femsfaren

(3 A

CIR ]
Options:

64535047035, 1
64535047036, 2
E4E35047087. 3
E4E35047038. 4
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Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 646350567
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635011969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who is the author of the book entitled, The Third Wave?
1.  Daniel Bell
2. Alvin Toffler
3. W.R Ashby
4. PRobert T. Craig

Options:

4535047099, 1
64535047100, 2
64535047101, =
64535047102, 4

Question Number : 51 Question Id : 64635011969 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35047093. 1
64535047100, 2
64535047101, 3
64535047102, 4

Question Number : 52 Question Id : 64635011970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In data transfer process, which of the following has multiple bridges between different
parts?

1. Firewalls
2. Switching packets
3. Hubs

4. Softwares

Options:

64835047103, 1
64535047104, 2
64535047105, 5
64535047106, 4

Question Number : 52 Question Id : 64635011970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047103, 1
E4E35047104. 2
E4535047105. 3
E4E35047106. 4

Question Number : 53 Question Id : 64635011971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Book Order Vigilance Pad (BOVP) was suggested by

1. Paul Otlet

2. Michael Gorman

-
3

Henry Fayol
4, Melvl Dewey
Options:
4535047107, 1
64535047108, 2

E4E35047103. 3
64535047110, 4

Question Number : 53 Question Id : 64635011971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635047107, 1
64535047108, 2
64535047109, =
4835047110, 4

Question Number : 54 Question Id : 64635011972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In binary number svstem, digit ‘22" is represented by
1. 10111
2 11000
3. 00111
4. 10110

Options:

4835047111,
4535047112,
64535047113,
64535047114,

[ N

Question Number : 54 Question Id : 64635011972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 10111
2. 11000
3. 00111
4. 10110

Options:

4635047111,
64535047112,
64535047113,
64835047114,

[ N

Question Number : 55 Question Id : 64635011973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The easiest way to bnng Intemet video to one's desktop or download is known as
1. flogging
2, podcasting
3. vodeasting
4.  blogging

Options:

64635047115, 1
64535047116, 2
64535047117, =
4835047118 4

Question Number : 55 Question Id : 64635011973 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Zetc difEd & SFcd W T U1 SEHE £ & 9eaad 39 7 e =u d @ o
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2. diEEiET
3. drewrte
4. =it
Options:

E4E35047115. 1
E4E35047116. 2
64535047117, 3
645350471158, 4

Question Number : 56 Question Id : 64635011974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who propounded ‘minimum, middling and maximum theories’ in reference service?
1. C.M. Winchell
2. James I Wier
3. Samuel Rothstein
4. D.W. Lewis

Options:

48350471191
4535047120, 2
64535047121, 5
4535047122 4

Question Number : 56 Question Id : 64635011974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047119, 1
E4E35047120. 2
EdE35047121. 3
BAE3504712%. 4

Question Number : 57 Question Id : 64635011975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

E-joumnal article ean be identified with the help of
1. Digital Open Identifier
2. Joumal Source Identifier
3. Joumal Amicle Identifier
4. Digital Object Identifier

Options:

64635047123, 1
4835047124 2
64535047125, 5
64535047126, 4

Question Number : 57 Question Id : 64635011975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535047123, 1
64535047124 2
64835047125 =2
4535047126, 4

Question Number : 58 Question Id : 64635011976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following is a collaborative network of reference librarians?
1. Worldcat
2.  INFLIBNET

3. QuestionPoint

4. Global Scholar

Options:

64535047127, 1
64535047128, 2
4835047129 2
4535047120 4

Question Number : 58 Question Id : 64635011976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350471271
64535047128 2
64535047129 3
64535047120, 4

Question Number : 59 Question Id : 64635011977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Warld Intellactual Propernty Organizsation (WIPO) is an agency of

1. ALA
2. IFLA
3. UNESCO

4 United Nations

Options:

648350471211
4535047132 2
64535047122 5
64535047124 4

Question Number : 59 Question Id : 64635011977 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



fay ST T wred (ewg, . 0. o) Fruel waid 22

1. TEmEu

2. HEUFETET

3. g

4. HgEa g
Options:

64535047131, 1
E4E35047132. 2
E4E35047133. 3
E4E35047134. 4

Question Number : 60 Question Id : 64635011978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following information-seeking behaviour medel explaine the aetivities,
viz., starting, chaining, browsing, monitonng, etc.?

1.  Wilson's nested model

2. Ellis’s model

3. Darvin's model

4. EKuhlthan's model
Options:
E4525047135 1
E4535047 136, 2

64535047137, 3
64535047128, 4

Question Number : 60 Question Id : 64635011978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535047135, 1
64535047136 2
4835047137, 2
4535047128 4

Question Number : 61 Question Id : 64635011979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Under RRRLF (Financial) Assistance Matching Scheme, assistance will be shared on
matching basis between RERLF and Nonth Eastern States at the ratio

1. 80:20
2. 90:10
3. 50:50
4,  60:40
Options:

645350471359, 1
E4E35047140. 2
E4E35047141. 3
64535047142, 4

Question Number : 61 Question Id : 64635011979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T ¥t 3 At e ST O Herad & e a3 @ e seaE d @)

b
1. 80:20
2, 90:10
3. 50:50
4., 60:40
Options:

645350471359, 1
E4E35047140. 2
E4E35047141. 3
64535047142, 4

Question Number : 62 Question Id : 64635011980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Intemet Governance Guide for Libraries’ is a publication of

1. ALA

2, IFLA

3. UNESCO

4. OCLC
Options:

64535047142 1
E4E35047144. 2
E4535047145. 3
64535047146, 4

Question Number : 62 Question Id : 64635011980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

E4E35047143. 1
EdE35047144. 2
64535047145, 3
64535047146, 4

Question Number : 63 Question Id : 64635011981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A customired website (often based on restrictions of domain articles) that immerses
information from a wide ammay of sources in a consistent and unified manner is known
as

1 a collection of interlinked web pages
2.  online portal

3.  web portal

4.  website

Options:

64535047147, 1
64535047148, 2
4835047149 =2
4535047150, 4

Question Number : 63 Question Id : 64635011981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

EdE35047147. 1
645350471458, 2
64535047149, 3
64535047150, 4

Question Number : 64 Question Id : 64635011982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Information Outlook” is a bi-monthly online magazine published by

1. IFLA
2. ALA
3. SLaA
4  CILIP
Options:

64535047151, 1
E4E35047152. 2
E4535047153. 3
64535047154, 4

Question Number : 64 Question Id : 64635011982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535047151, 1
E4E35047152. 2
E4535047153. 3
64535047154, 4

Question Number : 65 Question Id : 64635011983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Epigraph’ means
1.  amotto or brief introduction prefixed to a book
2. szpine of a book
3. essence of a subject
4. apamphlet

Options:

64535047155, 1
64535047156, 2
64535047157, 2
4835047158 4

Question Number : 65 Question Id : 64635011983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35047155. 1
E4535047156. 2
E4535047157. 3
64535047158, 4

Question Number : 66 Question Id : 64635011984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which vear “Webster's Third New Intemational Dictionary of the English Language’
was published?

1. 1961
2. 1965
3. 1970
4, 1971
Options:

64535047159, 1
64535047160, 2
E4E35047161. 3
EAE35047 162, 4

Question Number : 66 Question Id : 64635011984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. 1961
2 1963
3. 1970
4. 1971
Options:

E4E35047159. 1
E4E35047160. 2
64535047161, 3
64535047162, 4

Question Number : 67 Question Id : 64635011985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to 5. E. Ranganathan if any conflict arises between the canons and/or
principles, it is resolved by an appeal to

1. The Theores

2. The Rules

3.  The Five Laws

4.  The Postulates
Options:
C4EZE047163 1
C4EZE047164. 2

64535047165, 3
64535047166, 4

Question Number : 67 Question Id : 64635011985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535047163, 1
64535047164, 2
E4E35047165. 3
EAE35047 166, 4

Question Number : 68 Question Id : 64635011986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the penalty in case of plagiarism at ‘Level 2" in Academic and Research
Publications as per UGC (Promotion of Academic Integnitv and Prevention of
Plagiarism in Higher Education Institutions) Fegulation, 2018 :

1. Nopenalty

2. 5hall be denied a nght to cne annual increment

&

3. 5hall be denied a night to two successive annual increments

4. Shall be denied a night to three successive annual increments

Options:

4535047167, 1
64535047168, 2
64535047169, 5
64535047170, 4

Question Number : 68 Question Id : 64635011986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535047167, 1
G4AE35047168. 2
64535047169, 3
64535047170, 4

Question Number : 69 Question Id : 64635011987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ZOTEROisa

1. library management tool
2. statistical analvsis tool
3. senals management tool

4.  bibliographic reference management tool
Options:
E4E825047171. 1
EAB25047172 2
E4535047173 3
64535047174 4

Question Number : 69 Question Id : 64635011987 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64535047171 1
64535047172 2

64535047173, 3
EAE35047174. 4

Question Number : 70 Question Id : 64635011988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following tools searches seamlessly across a wide range of local and
remote content, provides relevance ranked results and has the ambitious goal of
providing 2 single point entry into library's collections”

1. Web Scale Discovery Service
2. Web Reference Service

3.  Union Catalogue

4. Web OPAC

Options:

64635047175, 1
4835047176 2
64535047177, 5
64535047178, 4

Question Number : 70 Question Id : 64635011988 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B4E35047175. 1
64535047176, 2
64535047177, 3
64535047178, 4

Question Number : 71 Question Id : 64635011989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which softvare is used by INFLIBNET Access Management Federation (INFED) for
authenticating authorized users 1o access the resources?

1. Koha

2. Php-MyLibrary

3. Shibbeleth

4 NewGenLib
Options:
64635047173, 1
64535047130, 2

E4E525047181. 3
E4B25047152. 4

Question Number : 71 Question Id : 64635011989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. Fm
2. o e b
3. ey (Shibboleth)
4. gE-dE

Options:

E4E350471739. 1
B4E35047180. 2
64535047181, 3
64535047182, 4

Question Number : 72 Question Id : 64635011990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to UDC Scheme (Abridged English 3! Edition) symbol ‘=" in table of
auxiliaries indicates

1. common auxiliaries of language

2.  common auxiliaries of place

3. common auxiliaries of time

4.  common auxiliaries of point of view

Options:

64635047183, 1
4835047134, 2
64535047185, 5
64535047186, 4

Question Number : 72 Question Id : 64635011990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
g, 2t . vl g stirft gdta s & wan e gl # wite =" dea s g
1. HIH] &1 JTA s
2. WM O gehE
3. THg @ GEA RS
4. TS S gHEdg SEES

Options:

64635047183, 1
4835047134, 2
4535047185 =2
64535047186, 4

Question Number : 73 Question Id : 64635011991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Law of Parsimony’ belongs to the

1. postulates

"
ks

normative prnciples
3.  mles

4. CANONS

Options:

64635047187, 1
64535047188, 2
64535047189, =
4835047190 4

Question Number : 73 Question Id : 64635011991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tyt &1 g7 wefia 2

1. HfYuRonE

2. uews R

3. Faats

4 TEEE
Options:

64535047187, 1
64535047188, 2
E4E35047189. 3
E4E35047130. 4

Question Number : 74 Question Id : 64635011992 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the formation of subjects, ‘progressive decrease of extension and increase of
intention of a basic subject’ is known as

1. lamination
2 denudation
3. dissection

4. loose assemblage

Options:

64535047191, 1
4835047192 2
4535047192 2
64535047194, 4

Question Number : 74 Question Id : 64635011992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35047191. 1
E4E350471392. 2
645350471383, 3
645350471394, 4

Question Number : 75 Question Id : 64635011993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘A number in DDC without meaning in itself, but used to introduce examples of the
topic’ is kmown as

1. class number

s book number

3 hook number

4 collection number

Options:

45350471495 1
64535047196, 2
64535047197, 5
64535047198, 4

Question Number : 75 Question Id : 64635011993 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. ane

2. Ui

3. EPodw

4. wHUEE
Options:

645350471395, 1
645350471396, 2
E4E350471397. 3
E4E350471398. 4

Question Number : 76 Question Id : 64635011994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which [SBN element identifies the particular publisher or imprint?
1.  Registrant element
2. Publication element
3.  Fegistration group element
4.  Check digit

Options:
45350471499 1

E4E35047200. 2
E4E35047201. 3
EAE35047202. 4

Question Number : 76 Question Id : 64635011994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

FH-T1 15, 149, 7. 1. 7= et ity v o verem farw &1 sfufSuffe s &2

1. dFaEeaw

2. weEAaW

3. Uuigd g aw

4. wWia3E
Options:

64535047195, 1
64535047200, 2
64535047201, 3
EAE35047202. 4

Question Number : 77 Question Id : 64635011995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which Council has developed ‘Leadership in Energy and Environmental Design
(LEED) rating svstem?

1.  United States Green Building Council
2. United Kingdom Green Building Couneil
3. Canadian Green Building Council
4. Indian Green Building Council
Options:
E4525047203. 1
E4E25047204 2

64535047205, 3
64535047206, 4

Question Number : 77 Question Id : 64635011995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Tt o gty sfiees # Jga ga € € S e word G e = R
frw afiag A fFan?
1. TAEes wen A faften srdfam
2. gAmes fEen i R adfm
3. SAfeTa U @ stim
4. fema = fafEn st
Options:
4535047203, 1
64535047204, 2
64535047205, =
64535047206, 4

Question Number : 78 Question Id : 64635011996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Any act bv a conservator that involves a direct interaction between the conservator and
the cultural marerial is called

l.  archive conservation

2 instrumentive conservation

3 preventive conservation

4.  interventive conservation
Options:
64635047207 1
64535047208, 2

E4E35047208. 3
EAE35047210. 4

Question Number : 78 Question Id : 64635011996 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tas g o ma F1 f F, fred wee IR Sitae Il A nay Tae g 8
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1.  HuEEam
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3. Ty Evam

4. AT
Options:
64535047207, 1
64535047208, 2
64535047209, 3
64G35047210. 4

Question Number : 79 Question Id : 64635011997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Diffusion of innovation’ theory is proposed by
1. Judy Smith
2. Eric Dezenhall
3. Peter Drucker

4.  Ewerett Rogers

Options:

64535047211, 1
64535047212 2
4835047212 2
64535047214, 4

Question Number : 79 Question Id : 64635011997 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Fara ¥ e faar %1 e weanfa frm 27

1. gEtH

2. i seTEm

3. dergee

4. THE I
Options:

64535047211, 1
64535047212, 2
E4E35047213. 3
EAE35047214. 4

Question Number : 80 Question Id : 64635011998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 15 NOT the part of Maslow's hierarchy of need?
1. Esteem need
2. Basic need
3. Security need
4. DPeycha-physical need

Options:

64635047215, 1
64535047216 2
64535047217, 2
645350472158, 4

Question Number : 80 Question Id : 64635011998 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635047215, 1
64535047216, 2
64535047217, 2
E4E35047218. 4

Question Number : 81 Question Id : 64635011999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The bit number as defined in [P Address in Intemet Protocol Version 4 is

1. 1k

2. 1%

3. 64

4 32
Options:

E4E35047219. 1
EAE35047220. 2
B4E35047221. 3
BAE3504722%. 4

Question Number : 81 Question Id : 64635011999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
S WeETe 99 4 F o, O, U3 A oot g 2

1. 16

2. 128

3. 64

4 32
Options:

64535047219, 1
64535047220, 2
64535047221, 3
EAE35047222. 4

Question Number : 82 Question Id : 64635012000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The protocol used to provide secunty to e-mails 15 known as

1. POP
2. PGP
3. SNMP
4. TCP
Options:

BAE35047223. 1
64535047224, 2
64535047225, 3
E4E3504722E. 4

Question Number : 82 Question Id : 64635012000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
-0 &1 T WEIH F4 g WereTa S

1. b afnd
2. el
3. WG
4. A4

Options:

64635047223, 1
64535047224 2
64535047225 =
64535047226, 4

Question Number : 83 Question Id : 64635012001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who among the tollowing coined the term Li-fi7

1 F. W.Lancaster

2.  Tim O'Relley

3. Harald Hass

4. Mary Parker Follett
Options:
CAEZE047227. 1
CAE2E047228. 2

64535047229, 3
64535047230, 4

Question Number : 83 Question Id : 64635012001 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. UF. = dFET

2. femsirfroms

3w

4. 70 o wide
Options:

64535047227, 1
EAE35047228. 2
EdE35047229. 3
64535047230, 4

Question Number : 84 Question Id : 64635012002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The function camied out by firewall is to
1. filter the IP packets
2.  open parts to all [P
3. enable user privacy

4. enable anonymous surfing

Options:

64635047231, 1
64535047232 2
64535047233 2
64535047234 4

Question Number : 84 Question Id : 64635012002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
wravae o e o e el B

1. o b, Oel = g
2 s, 9% Wi ) HEE S
3. vETEE e e wEae) S ' '

4. 3 e @ T E=
Options:
645350472311
64AG35047232 2
E4AE35047223 2
64535047234, 4

Question Number : 85 Question Id : 64635012003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the search engines is merged with ScienceDirect?

1. CiteSeerX

2. AhaVista

3. Dogpile

4.  Scirus
Options:

E4E35047235. 1
64535047236, 2
64535047237, 3
64535047238, 4

Question Number : 85 Question Id : 64635012003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1w

2. T

3. EimuEa

4 WEdE
Options:

64535047235, 1
64535047236, 2
EAE35047237. 3
E4E35047238. 4

Question Number : 86 Question Id : 64635012004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
NDL-India is developed and maintained by

1. 1IT, Gauhati
2. IIT, Chennai
3. T, Rootkee
4. IIT, Kharagpur

Options:

64535047239, 1
E4E35047240. 2
4535047241 =2
64535047242 4

Question Number : 86 Question Id : 64635012004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64835047239, 1
4535047240, 2
64535047241, 5
4535047242 4

Question Number : 87 Question Id : 64635012005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Multiplexing is used in

| packet switching

2. eircuit switching

3 data switching

4.  protocol switching
Options:
64535047243, 1
64535047244 2

64535047245, 3
64535047246, 4

Question Number : 87 Question Id : 64635012005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A TiiaET @1 I fEaH g 87
1. e faf
2. widbe R
3. safefm
4. viErsiq Rt
Options:

64535047243, 1
64535047244, 2
64535047245, 3
E453504724E. 4

Question Number : 88 Question Id : 64635012006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Haa$ is also known as

1. SaaS
2. Iaa%
3.  Pas5
4. NaaS
Options:

EAE35047247. 1
E4E35047248. 2
64535047249, 3
64535047250, 4

Question Number : 88 Question Id : 64635012006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T (U9, U. U U, F 3 &0 &g o 87

. ¥ (UE.0T )
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Options:

64535047247, 1
E4E35047248. 2
64535047249, 5
64535047250 4

Question Number : 89 Question Id : 64635012007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following V's associated with Big Data is concemed with the integrity of
data?

1.  Volume
2. Veloeity
3. Varety
4. Veracity

Options:

64635047251, 1
64535047252 2
64535047253 2
E4E35047254 4

Question Number : 89 Question Id : 64635012007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1. dfegA (Volume)

2. IS (Velocity)

3. TR (Variety)

4. wufEd (Veracity)
Options:

64535047251, 1
EAE35047252. 2
E4E35047253. 3
64535047254, 4

Question Number : 90 Question Id : 64635012008 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following components is NOT included in "LAMP™?

1. Linux

2. Apache

3. MySQL

4.  Pead
Options:

EAE35047255. 1
E4E35047256. 2
64535047257, 3
64535047258, 4

Question Number : 90 Question Id : 64635012008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
et & S9-w1 sgae @ ga, T ooE, 9 F i &2

1. e
2. urE
3. W gE w U
4.
Options:

E4E35047255. 1
EdE35047256. 2
64535047257, 3
64535047258, 4

Question Number : 91 Question Id : 64635012009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



LOCKSS has been initiated by

1. MIT Libraries

2. Stanford University

3. University of Waileate

4. Cambndge University

Options:

4535047259 1
64535047260, 2
64535047261, o
64535047262, 4

Question Number : 91 Question Id : 64635012009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wieg @t ugd fead @t 87
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Options:

64535047259, 1
EAE35047 260, 2
EAE35047261. 3
EAE35047 262, 4

Question Number : 92 Question Id : 64635012010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ldentify the frequency of occurrence and the analysis of co-occurrence of deseriprors
assigned to joumnal articles :

1. Co-word analysis
2. Word analvsis

3. h-index

4  pg-index

Options:

64835047263, 1
E4E350472E84 2
64535047265, 5
4535047266, 4

Question Number : 92 Question Id : 64635012010 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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3. wE-EE

4, w3
Options:

64535047262, 1
EAE35047264. 2
E4E35047 265, 3
EAE35047 266, 4

Question Number : 93 Question Id : 64635012011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
i10-index was created by
1.  Scimago Joumal and Country Rank
2. Web of Science
3. Scopus
4.  Google Scholar
Options:
64535047267, 1
64535047268, 2

EAE35047269. 3
BAE35047270. 4

Question Number : 93 Question Id : 64635012011 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
315 10-SHFHHIOS] B Ta1 e &1 4i?

R R S e

2. @4 afe e
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Options:

EAE35047267. 1
64535047268, 2
64535047269, 3
64535047270, 4

Question Number : 94 Question Id : 64635012012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following consists of a series of rectangles drawn next to each other

without any space between them, each representing the frequency of a category or
subcategory?

1.  Line diagram

2. Histogram

3. Pie chant

4. Cumulative frequency polvgon
Options:
645350472711
EAB2E047272. 2

EAE35047273. 3
BAE35047274. 4

Question Number : 94 Question Id : 64635012012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. ifen

2. G

3. gudEsdER

4. dfed sl agye
Options:

E4E35047271. 1
BAE35047272. 2
64535047273, 3
64535047274, 4

Question Number : 95 Question Id : 64635012013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In studving the relationship between smoking and cancer, if vou assume that smoking is
a cause of cancer and manv factors affecting the relationship, such as number of
cigarettes, the duration of smoking affect the extent of which smoking might cause
cancer.

In the above example, the duration of smoking is which kind of variable?

1. Intervening varnable
2. Extraneous variable
3.  Independent variable
4.  Dependent variable

Options:

EdE25047275. 1

EAB2SE04727E. 2

EAEZ5047277. 3
EAE35047278. 4

Question Number : 95 Question Id : 64635012013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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1, Al =Y

. HRIEY

3. wWoaw

4 foRm
Options:

EAE35047275. 1
BAE35047276. 2
BAE35047277. 3
64535047278, 4

Question Number : 96 Question Id : 64635012014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Delphi method is related to

1. conservation method
2 forecasting process based on panel of experts

3. planning of disaster management

4. method of recording bibliographic data

Options:
435047279 1

EAE35047280. 2
EAE35047281. 3
EAE35047282. 4

Question Number : 96 Question Id : 64635012014 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1. o womeft
2, fondmy O R snnfya qaigAE e
3. e wEYE S die
4. vt sited sifuftf@a s @t woredt
Options:
646350472739 1
64635047280, 2

EAE35047281. 3
EAE35047282. 4

Question Number : 97 Question Id : 64635012015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A design that seeks to control conditions within which persons are observed and
analvzed 15 known as

1.  expenmental design
2. exploratory design
3. survey design
4.  case study design
Options:
646350472583 1
64535047284, 2

EAE35047 285, 3
EAE35047 286, 4

Question Number : 97 Question Id : 64635012015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
CAE3E0472EE 1
LAE2E047284. 2

64535047285, 3
64535047286, 4

Question Number : 98 Question Id : 64635012016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Wheo has developed ‘Bibexcel'?

1.  Olle Persson

2. Chrs Argyris

3.  Vriocom

4.  Frederick Herzberg
Options:
EAE250472587. 1
EAE35047288. 2

64535047285, 3
64535047230, 4

Question Number : 98 Question Id : 64635012016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

EAE35047287. 1
E4E35047288. 2
64535047285, 3
64535047230, 4

Question Number : 99 Question Id : 64635012017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The rejection of a null hvpothesis, when it is true, 1s known as
1.  hypothesis of difference
2.  hwvpothesis of association
3. tvpe=I emmor

4.  type-Il emor
Options:
64535047291, 1
64535047292 2
64535047293 2
64350472594 4

Question Number : 99 Question Id : 64635012017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
¥ UiiEedl, wale o5 98 & F1 Jisia Sl &

1. == ofea

2. Tl F uiEe
3. wER-IER
4. wErR-IFR

Options:

64535047291, 1
64535047292 2
E4E35047292. 2
4535047294 4

Question Number : 100 Question Id : 64635012018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Who introduced the concept of Information Encountering (IE) into the Information
Behaviour Literature in 19977

l. 5. Erdelez

2. P.Vakkan

3. R Savolainen

4. B.Dervin
Options:
64535047235 1
64635047296, 2

64535047237, 3
EAE350472395. 4

Question Number : 100 Question Id : 64635012018 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1997 # ga oraER wifew  fore gEn sovn-ar (o, €) 1 sruroon #1 e #

L O e

2. W aEert

3. R FAEE

4,  Hi3fA
Options:

64535047235, 1
64535047236, 2
EAE35047297. 3
EAE35047 2395, 4

Question Number : 101 Question Id : 64635012019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which are the display elements of ‘PRECIS™?

(@) Qualifier
(b) Call Number
{(¢) Display
{d) Lead
Choose the comect answer from the options given below :
L. (a), (b)and (c)
2. (a), (b) and (d)
3. (a) (c) and (d)
4. (bl (c)and (d)

Options:

64535047299, 1
645350473200, 2
4835047201, 2
4535047202, 4



Question Number : 101 Question Id : 64635012019 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
it (. ome €. . omg. e & vedle aw B &
(2) Fomm @)
(b) WiaFar
() veRl®
(d)y s
=i fgu 7y faesedl # | Wal I gy :
L (2), (b) 3R (c)
2 (a) () 3R (d)
3. @) (@R (@
4 ) () AR (@)
Options:
64635047299, 1
64635047300, 2

64535047301, 3
E4E350472302. 4

Question Number : 102 Question Id : 64635012020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are the standards for encoding records?
(a) ONIX
) SGML
(c) W3C
(d) MARC 21
Choose the comect answer from the options given below -
1. (a), () and (c)
2. (a), (b) and (d)
3. (b). (c)and (d)
4. (a), (c) and (d)

Options:

648350473203, 1
4535047204, 2
64535047205, 5
64535047206, 4

Question Number : 102 Question Id : 64635012020 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fofifen & 8 S48 dediew gsiEn sfida &g 7ns £
(a) A=
() vE.el.TA T
(c) T=g 34
(@) ¥ 21
g fég 7Ty foeeai # & wgl Iw g
1. (a), (b) R (c)
2. (@) ) M)
(®). (c) ¥R (d)
4. (@) (@) M (d)

ek

Options:
E4E35047303 1

E4E35047204. 2
E4E35047205. 3
64535047206, 4

Question Number : 103 Question Id : 64635012021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are non-probability sampling techniques?
(a) Purposive
(b) Convenience
(c) Snowball
(d) Simple random

Choose the comrect answer from the options given below :
1. (a), (b) and (d)
2. (b)), (c) and (d)
3. (2), (c) and (d)
4. (a), (b)and (c)

Options:

64835047207, 1
64535047208, 2
64535047209, 5
64535047310 4

Question Number : 103 Question Id : 64635012021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



PraffEa 9 PF.3 witeia fres Ry 2
(@) Sezag
(®) EETgER
() fmegs
(d) o arfEs
3 frg 7o fored] 9 9 w8 IR TR
L (), () R ()
2. () () MR (d)
3. (@), (@ WR ()
4. (a), () ()

Options:

4635047207, 1
64535047208, 2
645350473209 =
64535047310 4

Question Number : 104 Question 1d : 64635012022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following are parts of ‘SCONUL" Seven Pillars of Information Literacy
Model?

(a) Gather
(b) Scope
(c) Preserve
(d) Present
Choose the correct answer from the options given below :
L (b), (c) and (d)
2. (a), () and (d)
3. (a). (b)and (d)
4. (a), (b) and ()

Options:

4635047211, 1
64535047212 2
64535047313 =
64535047314 4

Question Number : 104 Question 1d : 64635012022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Prafefem 33 993 9 Wt TRET 5 ST s9 = Fym
@ WX
®) w=m
© fored
(d} oa=
13 forg Ryt 43 w8 IR IR
L () ()R ()
2. (@) (M@
3. (@), 0 AR ()
4 (2. ®) AR

Options:

4635047211, 1
64535047212 2
64535047313 =
64535047314 4

Question Number : 105 Question 1d : 64635012023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following Dublic Library Acts does NOT have the provision of Library
Cess?

(a) Kerala

(b) KEamataka
(c) West Bengal
(d) Maharashtra

Choose the correct answer from the options given below :

1. () and(d)
2. (b)and(d)
3. (a)and(b)
4 (2)and(0)
Options:

64535047315, 1
E4E35047316. 2
EAE35047217. 3
E4E35047218. 4

Question Number : 105 Question Id : 64635012023 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



T 4 @ frvs adete e sfufast o e sust = e T8 &
(a) FHw@
() wFAED
() UM @me
(d) HERTg
i ferg T faeedt € 9 s gL
1L (93
2. (b))
3. ()dR®)
4. @M

Options:

64535047315, 1
48350473216 2
E4E35047217. 2
64535047218, 4

Question Number : 106 Question Id : 64635012024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the fallowing are NOT the techniques of ranking seale?

{a) Paired comparison
(b) Open ended question
() Equal-appearing interval method
{d) Besponse analvsis
Choose the comrect answer from the options given below :
1. (b), (c)and (d)
2. (a), (b)and (c)
3. (a), (c) and (d)
4. (), (b) and (d)

Options:

4535047319 1
64535047320, 2
64535047321, 5
64535047322 4

Question Number : 106 Question Id : 64635012024 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Praftfae # 3 s-d sifemn e (0 @) 3 aets 9l &2
(2) Tt o (@3S HRifem)
(b) T W (I TS5 D)
(¢) THE U 5 arel si=we &
(d) i o (et T )
2 fag g fasedt 4 @ W 9w gfy
1 (b) (0) 3R (d)
2. (), () AR (2)
3. (@) (0 R
4 (@) M)
Options:
64635047319, 1
64635047320, 2
64635047321, 3
64635047322, 4

Question Number : 107 Question 1d : 64635012025 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following are the parts of MARC record structure?

(a) Check digit

(b) Leader

{¢) Directory

(d) Record terminator
Choose the correct answer from the options given below :

1. (a), (c) and (d)

2. (a), (b) and (d)

3. (a),(b)and (c)

4. (b). (c)and (d)
Options:
B4E350472323. 1
64535047324, 2

64535047325 3
64535047326, 4

Question Number : 107 Question Id : 64635012025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Frofefas 44 9-8 0% sfife s S ym &2
(@) T=fEfae
®) s
(c) Browd
(d) Foigefife
=i féu g feeedl 4 4 W51 I g -
L (a) (¢) R (D)
2. (a), (b) 3R (d)
3 (2. ()R (o)
4. (b) () R (d)

Options:

64535047323, 1
64535047324 2
64535047325 2
4835047326, 4

Question Number : 108 Question Id : 64635012026 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ldentify the components of “WAMP" given below :

(a) Adobe
b) Web
(e MySQL
(d) Pearl
Choose the comrect answer from the options given below :
1. (a)and ()
2. (b)andc)
z (c) and (d)
4. (a)and(d)

Options:

64635047327, 1
64535047328, 2
64535047329 2
48350473220 4

Question Number : 108 Question Id : 64635012026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frofafam 89 4w @eg, T ) & sadl 51 gt
() TEE
® =
(c) ¥ UE. 7Y, U,
(d) o
i faw o Rt & F wh ow gf
L (@) 3R ()
2 ®)H(E
3 (0R@
4 (a) 3R (d)

Options:

64635047327, 1
E4E35047328. 2
45350473229 2
64535047220 4

Question Number : 109 Question Id : 64635012027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following have developed the initial version of SPS5?

{a) Nomman Nie
(b) C. Hadlai Hull
{c) DaleH. Bont
(d) John Chambers
Choose the commect answer from the options given below :
1. (b), (c) and (d)
2. (a), (b)and (c)
3. (a), (b)and (d)
4. (a), (c)and(d)
Options:
64635047331, 1
646535047332, 2

64535047333, 3
64535047334, 4

Question Number : 109 Question Id : 64635012027 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



=71 ¥ frmy 8. 0. 9. 19, ¥ amifis g =1 i e e

(a)
(®)
(c)
(d)

e

1. gETTs E
o e gl
Wi e

= fgu 7y feesedl # 4 wel o gy

L.

bt

Lad

4.

Options:

(b), (c) ¥R (d)
(2). (b) 3 (<)
(a). (b) 3 ()
(). (¢) 3R (d)

E4E35047231. 1
EdE350472332. 2
64535047333, 3
64535047334, 4

Question Number : 110 Question Id : 64635012028 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the characteristics of ‘fugitive material” from the following :

(@)
(®)
(e)
(d)

Material printed in limited quantities
Material having perpetual value
Usually of immediate interest at the time of publication

Materials not related to any programme or processed publications

Choose the correct answer fram the options given below :

Options:

(2) and (c)
(2) and (b)
(b) and (c)
(c) and (d)

64535047335, 1
E4E35047336. 2
EAE35047337. 3
E4E35047238. 4

- No Display Question Number : Yes

Question Number : 110 Question Id : 64635012028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frrafeiaa 7 3 seawios wen-anel (wiefes fAefvom =t fadmadt =t aganf ;
(@) e wEn ® wfta
(b) AT e B
(c) VeIEH & THG WH-TG: aeelios sfieta 1wt
(d) Tt wrdmn s dafia verem & dfia wmd

#t2 fog o Rreed! # 9 98 SR TR
1. (@) 3R (e)
2. (a) 3R (b)
3. (b) R (o)
4. (o) W (d)
Options:

64535047335, 1
645350473356, 2
EAE35047337. 3
E4E35047238. 4

Question Number : 111 Question Id : 64635012029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following States in North-East region have enacted library legislation?

(a) Mizoram
(b) Manipur
() Nagaland
(d) Assam
Choose the correct answer from the options given below :
1. (a)and (b)
2. (b)andc)
3. (@) and(e)
4. {c)and(d)

Options:
4235047339, 1

E4E350472340. 2
E4E35047241. 3
645350472342, 4

Question Number : 111 Question 1d : 64635012029 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oifar 47 ¥ Prafafee § 3 fee ol & e favm fifafie e o &2
(a) fERE
) =R
(¢) =TT
(dy EH
J fan o Rt F @ wdt aw gfu
N CVE )]
2. ()R
3 (@R (o)
4 (¥R

Options:

64635047259, 1
64535047240 2
64535047341 =
64535047342 4

Question Number : 112 Question 1d : 64635012030 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List-I with List-II :

List-I List-II
(Formats of presenting (F.elavant narratives)
information)

() Electronic (i)  In-person meetings, personal
discussions

(b) Print ({ii}) Telemeetings, technophobes,
videographic meet

(c}) Faceto face (i) Social media, e-mail, website
banners, pay-per-click ads

(d) Tele-conferencing (v) Brochures, fliers, ads, catalogues,

reports, memos or letters
Choose the comect option from those given below :
L (@), vy (o) (-G
2 (aHv) )Gin) (), (dHi)
3. (i) (bHiv): (e)Hi): (d)(ii)
4 (i (e)Hiv) (i), (dHii)
Options:
64635047343 1
64535047344 2

64535047345, 3
64535047346, 4

Question Number : 112 Question Id : 64635012030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 = 11 S gAREm i

-1 -1
(gmm (Haz
)
(a) TORIE @ e dss, miEama aatt
©) fi Giy  Eferifen e, dfsdmies o
(©) TETEHEE (i)  Hme difEm, -8, dewee S W-
fooe U5
(d) RHEER Gv) SR SR, U, seat, e, 46
HUF T
feu 7o Toedl § & TE I @ 904 S

Lo (@) ®)iv); (a0 (d)-Gi)
2. (arv); MG (-G (d-Gi)
3. () V) () (d)-Gii)
4 (@) ()Hav); (e)-(ii); (d)-(i)

Options:

£4635047343 1

645350473244, 2

E4E35047245. 3
645350472346, 4

Question Number : 113 Question Id : 64635012031 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List=I with List=II :

List-1I List—I1
(a) Web portal (i)  Personal login and single access
point
(b) Website (ii)  Enables users to see aggregated
data from multiple applications
(c) Vertical Web portal (i) Nologin required

{d) Horizontal Web portal (iv)  Focus on a specific application or
business function enabling users
to see, edit and contribute

Choose the comrect option from those given below -
L (i) (i), (e-v); (dii)
2. (aii); ) (e)-Gv): (d)-ii)
3.0 (apv), (b)), (i) (d)ii)
4. (api) (b)), (e[ (d)-iv)
Options:
64535047247, 1
645350472348, 2

64535047245, 3
64535047350, 4

Question Number : 113 Question 1d : 64635012031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 %1 i1l & g iR -

-1 Esipt

(a) TEUET () TS AN-3A R Ea Hfirm g
(FéTer ue @rge)

(b) d=EEE (i) T§ VTN F TE sl
H=ta iFe & H
&Il &

(c) uF @fEsm 3@ dea (i) el @5 ST srawgwar T8 gt

(@) dftmEheeodsdda (v RREW s s aam ved
T T S Tl W e @i E,
Frifad S99 3w drreE 29 Hw5ay
AT o S

fam Ty fareal # 9 WEl I9 &1 994 ST
L (a0 G ey (d-Gi)
2. (arG) ()G (-Gv) (d)-Gi)
3. (arav) ®)-Gi); (e-G) (d)-Gi)
4. (i) (o)) ()i (dHiv)

Options:

64635047347 1

64635047348 2

64535047245, 3
64535047350, 4

Question Number : 114 Question Id : 64635012032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-II :

List=I List=II
(a) Yearbooks () Annual publication listing a set of events
forthcoming in next vear
(b} Directory (ii) Information about events of previous vear
(c) Almanac ({iii) Contains instructions or advice about a

particular subject

(d) Handbook vy A list of facts that contains an
alphabetical index of names and
addresses of persons or organizations

Choose the correct option from those given below !
Lo (@Hiv): () (i), (d-i)
2. (i) ®HIv) (-G (i)
3. (@) (v (i) (d))
4. (@) ®Hv) (-6 ()
Options:
64535047351, 1
E4B25047352. 2
E4E250473535 3
E4535047354 4

Question Number : 114 Question Id : 64635012032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 %1 11 & gafte Fife

-1 I
(@) HeEwE @) ot veme forad armd od |
B O wwnt & TyE @
el Bl @
) R ) ot ot & seiedt & o &
Hqa-1
(c) TR () i) TR s R sand
SIS Sy W B
(d) o = (v) aul @ e witmt s
T N et Fﬁ#ﬁaﬁuﬁﬂ
HTaivS ST it
fem et & @ Wl e @1 907 Fifog

L (@v); (b)-Gi); (e)(ii); ()
2 (i) (o)Gv); (e (dHD)
3. (aHik (e)Hiv); (e (d-)
4. (i) (b)iv): (e)-0); (d)(iii)

Options:

64635047351 1

64635047352 2

64535047353, 3
64535047354, 4

Question Number : 115 Question Id : 64635012033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List—I with List-II :

List—I List—II
(Awards) (Librarv Associations
in India)
(a) DBestPRetired Librarian Avward (i) sI5
(b} 5. M Ganguli Award ) IASLIC
(c) 5. P. Narang Research Promotion (i) ILA
Axvard
(d) Young Scientist Award (iv) IATLIS

Choose the comrect option from those given below :
Lo (aHi) @) (e-iv); (d)-Gi)
2 (@) ) (i) (dHD
(@)yGi); ®)=Gii) (=), (d)r-G)
4. (apii) )G (e-Gv) (dH0)

el

Options:

64635047355, 1
E4E35047356. 2
64535047257, 5
64535047358, 4

Question Number : 115 Question Id : 64635012033 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

ft-1 = eft-11 & it Sfifon
-1 FH-I1
() (Mg JEeTeg Ha)
(2) TEPE HaATHgY TREIAUTE (i) UH HE.UE
‘I‘FEFH
(b) T TH T e Gi) oM. T T T e, A
(€ A ImEMYSEFE R GE)  MmE.TmT
(d) gmdFs TR Gv) o5 T & e o, o
feu 7o et & & T8 ST &1 99 Siwg

L (@) (i), (e)-Gv); (d)-(i)
2. (aHiv) G (e, (dHi)
3. (ad); (b, (=) (d)-G)
4. (@) ) ©-ivk (d)-0)

Options:

E4E2E0473EE 1

EABZE04735E8. 2

64535047357, 3
64535047358, 4

Question Number : 116 Question Id : 64635012034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-II :

List=] List=II
(a) FORSA (i Science and Technology
(k) NERC (i) Medicinal Science
() HELNET (1ii) Agriculture
(d) CeRA {iv) Astrophysics

Choose the comrect option from those given below :
Lo (@A) (b)) (e)-(iv); (d)ii)
2. (@) (o) (i) (dr-Gv)
3.0 (ariv) (i (i) (di(ii)

4. (i), (b)), (eiv); (d)=()
Options:
64635047259, 1
64535047360, 2
64535047361, =
64535047362, 4

Question Number : 116 Question 1d : 64635012034 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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-1 FA-II
() rEl @  fre oiR dref
() T MR Gi) TR
(¢) e (i) FMH
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L (a0 ) (e-ivy; (d)-Gi)
2 (ayi) ) (e, (d-{v)
3. faiv) bHG), (e, (di(ii)
4. (a)id); (i), (e-iv); (d-i)

Options:

C4E25047259 1

CAEZEQ47ZE0. 2

64535047361, 3
EAE35047 362, 4

Question Number : 117 Question Id : 64635012035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List—I with List-II :

List—I List—II
(Authors) (Works)
(a) George Kingsley Zipf (i)  Documentation
(b} Samuel Clement Bradford ({ii)y The Beginning of Systemaric
Bibliography
(c) Alfred James Lotka {1ii) Human Behaviour and
Principle of Least Effont
(d) Theodore Besterman (iv) Elements of Mathematical
Biclogy

Choose the comrect option from those given below :
L @rav); (o) (ei); (d)-i)
2. (i), (b)) (eHiv), (i)
3. () ()id); (i) (d)-Gv)
4. (ap(); ()-Gid); (cHiv); (dHD

Options:

64835047363, 1
64535047264, 2
64535047365, o
64535047366, 4

Question Number : 117 Question Id : 64635012035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 31 g1l & g =i

-1 11
(ta) ()
(a) T fve fas G)  STEgHeEH
() dpmaadcdsed ) 2§ RBRREFE o ReeaRs
[EIEREIRIE]

(c) UTHS & e (i) ﬁq&%ﬂm iz fiftom aife

(d) fETER F=Ta (v) uftwes i uifese andere
ey 7o et © & TRt WX @1 99 Siw
Lo @v), )-E); (e)=(i); (d)=(il)
2. (2, (o)) (eGv); (d)-(i)
3. () (e)d); (e)-Gi): (d-Gv)
4. (ari); (e)ii); (-iv); (dr-0)
Options:
4535047363 1
EAE25047364 2

E4535047265. 3
64535047366, 4

Question Number : 118 Question Id : 64635012036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List—] with List-II :

List=I List=II
{a) Cost effectiveness iy  Cost of product/service rendered by
oTganisation
(b) Cost-benefitanalysis (i)  Determined by dividing the allotted
cost of subsystem by its actual
number of operations

{c) Costanalysis () Relationship between the benefits
of product/service and cost of
providing it

(d) Unit cost (v)  Relationship between level of

performanee and the cost invelved
in achieving the level

Choose the correct option from those given below :
L (v, ()Gl ()@, (d)-Gi)
2. (a i) (-Gv); (d)-Gil)
3. (api) (b)) (eHiv); (dHD
4. (i), ©)X0v); (=G (dr-0)
Options:
E4E25047267. 1
EAE25047368. 2

E4E35047269. 3
645350472370, 4

Question Number : 118 Question Id : 64635012036 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

-1 =1 11 & gl S -
-1 11
{a) PTG WA @ e o vEs TS 1 an
) wrE-oMfEwme ) SOuoml S emEfed wm # 5Ee
TETeE @t arsfae g ¥ e g
Fuifa
(c) TwTa R (i)  Foe/Am F ey AR 5 e =
NG & &g 31 98y
(d) THEaa (iv) frores & & ot 39 ©R & U
T H alg e T & 99 =1 |98y
fau 7y et & 9 Wt oo = T S

1 (apv): (i) (i) (dH(i)
2 (i) )); ()-v): (d)ii)
3 (i) (i) (e-iv) (dHD)
4. (aG); G () (dH0)

Options:

64535047367, 1

E4B25047368. 2

E4E35047369. 3
EAE350472370. 4

Question Number : 119 Question Id : 64635012037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match List=I with List=II :
List=] List=II
{Class of IP) (Supporting coverage)

{a) Class AIP (i) Supports small networks with fewer than
236 devices

(b) Class BIP i)  Reserved for multicast groups
(c) Class CIP (i)  Supports large networks with many devices
{d) Class DIP {iv}  Supports medium-sized nerworks

Choose the comrect option from those given below :
1. (&) (WG (vl (dHiii)
2 (i) @) (O-Gii) (dGv)
3. (aH); (bHiv); ()i, (d)(i)
4. (aHi); (bHIv); (i) (d)ii)
Options:
CAE2E047371.1
425047372 2
C4dE3E047373 3
C4EZE04737 4. 4

Question Number : 119 Question Id : 64635012037 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



it @t Fefi-11 & gt i

-1 =11
(35, &, & FarE) (Tfia fwa-am)
(a) FEEU 3T UL (i) 256 ¥ A gEadl $ WY BIE AT
H1 FAU

(b) FomE . g, 9. (i) =g-TmTa WHEl F o HRiEm

(c) &eme . a5, O (i) % gl F Wy 93 TSl &

(d) o g, . Gv) HEOW R doa] @ g

fam o faesedt # 9 weh o= =1 w0a Sfe

1. (i) (M) (v (d)ii)

b

(). (o) (c)-Gu); (d)y-Gv)

3. (aHid); (eHiv) (i) (dHD)

4. (@) vy @) (i)
Options:
B4B35047371 .1
425047372 2
64E25047273. 2
E4E35047374 4

Question Number : 120 Question Id : 64635012038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List=] with List=II :

List=I List=II
(a) Repeaters (i) Allows similar nerworks to communicate
b} Gateways (i1}  Allows datato be transferred within the
network
() Fouters (iiiy Help in strengthening the signals
(d) Switches {ivy  Allows dissimilar networks to communicate

Choose the comrect option from those given below :
Lo (@) ) (e-Gv); (@0
2 (ariv); ()il (e (@
3.0 Qi) vy (=) (d)-Gi)
4. (ay(u); oGk (eGv); (d-{u)

Options:
E4E32E047=375. 1

EAE35047376. 2
EAE35047377. 3



EAE35047378. 4

Question Number : 120 Question Id : 64635012038 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i1 =1 TEft-11 & gafta St -

- FE-II
(a) fediex () o & R gae Scawl @ safa o
b ed () Head & Wi ¥ Jaw et e Ea 2
(¢) TIER (i)  Hebdl B Wed g S EEEAI FA1 2
(d) f&= (v) T S o e densl =1 aefa Ea g
feu My Rt @ a9 ST @1 507 i -

1. () (b)) (cGv); (d-0)
2. () (b)) (o)), (A
3. (aHGi); Gv); (i) (d)-Gi)
4. (@) M) (v (i)

Options:

E4EZEE04737E. 1

E4ESE0473TE, 2

EAE35047377. 3
B4E350472378. 4

Question Number : 121 Question Id : 64635012039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Martch List—I with List—II :

List—I List—1II
(e-depositorv) (Y ear of establishment)
(@) PMC @ 1999
(bt} KB e-Depot @iy 2005
(c) Portico (i) 2000
(d) LOCKSS {iv) 2003

Choose the correct option from those given below :
Lo (i) vk e dHD)
2. (aiv)y i) (i) (d(ii)
3. () (b)) (e)ivy (dr-)
4. (@) ()Gv) (o)) (d)ii)

Options:

64535047379, 1
64535047380, 2
64535047381, 2
E4E35047382. 4

Question Number : 121 Question Id : 64635012039 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEt-1 F1 -1 3 Fofer Fife

Heit-1 -1
&-Fem (T )
(@ @ @ 1999
®) F & 5-g i) 2005
(c) o i) 2000
(d) diew (v) 2003
forg g frared] @ w8 o 1 e e

Lo (@G ®)Gv); (-G (d-6)
2 (v ) (-6 (d)-Gil)
3.0 (@G (G (©-Gv) (d)-G)
4. @G oHGv); (-0 (d)-ii)
Options:
64635047379, 1
£4635047380. 2

E4E35047281. 3
64535047382, 4

Question Number : 122 Question 1d : 64635012040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match List=I with List=II :

List-] List—II
(a) Independent variable {iy  Change variable
(b) Dependent variable i)  Ourcome/effect variable
(c) Extraneous variable (iii) ~Confounding variable
(d) Intervening variable (iv) Affecting canse and effect
relationship

Choose the correct option from those given below :
1. (ay=Gi); ba) (c-v); (d)-i)
2. (a)ix @)y (-Gv): (d)-Gii)
3.0 (a)Hi); (b)(v); (e)Hi); (d)H)
4 (apv) () (i (dHD

Options:
435047353, 1

EAE35047384. 2
E45350472385. 3
64535047386, 4

Question Number : 122 Question 1d : 64635012040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i1 =t w11 & gRfts S

-1 -1
(a) oA i) OmEEEER
by nfEEEe ()  ofordmymE T

(c) Pwia= Gi) fosgas
(d) o= iv) O R T T St mfwar

fa Ty et & @ |t I &1 904 S
L (@G )0 (e)-Gv): (d)-(ii)
(@) M)i); (e)-(iv); (d)-(ii)
30 (aH); v (-6 (d-
4. @) )G (i) (d-D

bl

Options:
E4E35047353. 1

E4E35047384. 2
E4E35047285. 3
64535047386, 4

Question Number : 123 Question Id : 64635012041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following libravies according to their vear of foundation
(a) Khuda Bakhsh Library, Patna
(b) Raja Library, Rampur
{c) Delli Public Librarv, Delli
(d) Narional Library of India, Kolkata

Choose the comect answer from the options given below :

L () (@), ), ()
2. (a) (b) (<) (d)
3 (e (a), ®).(d)
4. () (0 (@) @

Options:

64535047387, 1
64535047388, 2
64535047389 2
48350473290 4

Question Number : 123 Question Id : 64635012041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FrofafEn gaeed! #1976 e 76 F e #9 F ol
(@) e wEdd, v
(b) T EE, TG
(c) Foeeh ofes amesrd, feee
(d) e A i 3, e
Fraffaa sl 4 9 98 I &1 90 #ifwg .
L (), () (@), (0
(2). (). (). (d)

b2

3. (g, (@), (®), ()
4. (), (c), (a), (d)

Options:

64535047287, 1
64535047388, 2
64535047389, =
64535047390, 4

Question Number : 124 Question 1d : 64635012042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following States in ascending order of the vear of enactment of their
respective Public Library Aects

{2) Arunachal Pradesh
(b) Uttar Pradesh
{(¢) Haryana
(d) Orissa
Choose the comect answer from the options given below ;
L (d) (c), (b), (a)
2 () (d) () (a)
3. (b), (d)(c), (@)
4 (@ (0, M), (d)

Options:

64535047291, 1
64535047392 2
64535047393 2
64535047394 4

Question Number : 124 Question 1d : 64635012042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frafefEa 7= &1 3s o aae Toenn sfufms wfufafe gn 5 o § s
&H H wad Fifay :

{a) HEUTHEVEE

(b) TELTEE

(c) wiemom

(d) s
Prafofa faeel & 9 w8 o =1 90 Fifan

L (d) (c). (b), (2)

2. (o). (d). (b (2}

3. (), (d).(c), ()

4. (a) (), (), (d)
Options:
64635047291, 1
64535047392 2

64535047383, 3
645350473394, 4

Question Number : 125 Question Id : 64635012043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Armrange the following social networking tools according to their vear of launching in
ascending order

(a) Twirter

(b) Facebook

() LinkedIn

(d) Pinterest

Choose the correct answer from the options given below :

1. (b). (d).(a), (©)

2. (d), (b). (). (c)

3. (o). () () (d)

4 (@) e (b id)

Options:

64535047395, 1
64535047396, 2
E4E350473297. 2
64535047295, 4

Question Number : 125 Question Id : 64635012043 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



froftfam dem Scafdn suswl & 39 oy B & of & organ o & | fafan
@ f=
b) FEE
(c) fHiesga
(d) faer=
Frafafas fasedl # 3 w8 o & 90 Fifan
1. (b (d).(a). (c)
2. (d). (b). (2). (c)
(c). (), (2), (d)
4. (a) (&) (k). (d)

ad

Options:

4535047295, 1
64535047396, 2
64535047397, 2
64535047395, 4

Question Number : 126 Question 1d : 64635012044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Armrange the following information svstems in ascending order according to their vear
of establishment :

(@) INIS
(b) AGRIS
(c/ MEDLARS
(d) INSPEC
Choose the comect answer from the options given below -
1. (b), (), (c), (d)
2. (d), (e). (@), (b)
3. (2), (), (d). (b)
4. (g, (d), (), (b)

Options:

64535047299, 1
64535047400, 2
64535047401, =
64535047402, 4

Question Number : 126 Question 1d : 64635012044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FrafofEa qam vl w1 37% wre o & Een s we A ffEn
(2) 15 T 75 UE. 5
(b) U S R g, uE. i)
(&) uAE 2 un g s UE dea)
(d) o GH.7E. 9.3 . GEie)
fFrofefea Rt § 3 o ow @ 907 Fifen -
1L (k) (@) (c). (d)
2. (d), (@ (a), ()
3. (a), (c) (d), ®)
4. (c), (d).(a), (b)

Options:

64535047399, 1
E4E35047400. 2
4535047401, 2
64535047402, 4

Question Number : 127 Question Id : 64635012045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the comrect sequence of the sections of main entry in CCC (Ed. 3) :

(a) Title section

(b) Leading section

(¢} Notesection

(d) Accession number

Choose the correct answer from the options given below :

L (b) () (d). ()

2. (&) (a)(c) @)

3. () (b) (c). ()

4 (@), (), (b). (D)

Options:

64535047403, 1
4835047404, 2
4535047405 =2
64535047406, 4

Question Number : 127 Question Id : 64635012045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



4. . . @ 5) # gem wiefe ¥ sreiel =1 i wa A el
(@) e TR
(b) o ITwE
(@ Hresgwe
(d) ofeEndEm
Fofafas e 43 98 o =1 90 =ifa
1. () (c)(d). @)
2. (b) (@) (c), (d)
3. (a), (b), (c), (d)
4. (@) () (B) (d)

Options:

4635047403, 1
64535047404, 2
64535047405 =
64535047406, 4

Question Number : 128 Question 1d : 64635012046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following principles of management given by Henri Favel in proper
sequence :

(a) Division of work
() Unity of command
(¢} Discipline
(d) Authority and responsibility
Choose the comrect answer from the options given below :
1L (a) (), (d), (b)
2. (&), (d)(c) ()
3. (), (), (d) (a)
4. (g) (d)(a), (B)

Options:

64535047407, 1
E4E35047408. 2
64535047409, 5
64535047410 4

Question Number : 128 Question Id : 64635012046 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



B Tt w0 v weve & Feftilaa faeid 1 ofia &a | R
(a) FH-fAyreE
(b) SIEHE B THdl
(c) SETEA
(d) wWiteR ik Iweiag
Frofefas fewl & @ o o &1 997 Fife
L (& (g, (d). (&}
2. (2. (d).(e). @)
3. (@) (e (d) (@
4 (<) (). (). @)

Options:

64535047407, 1
64535047408, 2
E4E35047409. 2
4535047410 4

Question Number : 129 Question Id : 64635012047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Armange the following meta search engines in ascending order according to their vear of
launching :

(a) SeerX
(b) Skyscanner
(¢) Kayalk
(d) Metacrawler
Choose the correct answer from the options given below :

L (d) (b (e (2)

(=

(d). (a), (b). (c)
(a), (&) (d). (c)
4 (@) (d)(e) ()

e

Options:

64635047411, 1
64535047412 2
64535047413 =
64535047414 4

Question Number : 129 Question 1d : 64635012047 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Praffe e o Sl = o wr: 81 ¥ o & R R w  faf
(a) ¥=w
(b) FPEET
(c) Fum
(d) FeweieR
FrmfafEa fawedt § € 98 IR &1 90 St
L (d) (@) () (2)
(d), (a). (b). ()
3. (@ () (@)

t

4. (a), (d), (). (b)
Options:
645350474111
64535047412 2
64535047413 =
64E35047414. 4

Question Number : 130 Question Id : 64635012048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Arrange the following library softwares in ascending order according to their vear of
launching :

{a) Php-MyLibrary
(®) ABCD
(¢} Koha
(d) NewGenLib
Choose the comrect answer from the options given below :
L (e} @) (), (d)
2. (<) () (@), (d)
3. (g) (d).(a) (b)

4. () (&) (d) (&)
Options:
645350474151
64535047416, 2
64535047417, 3
64535047418, 4

Question Number : 130 Question Id : 64635012048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



frofrfan omed Sietadl 1 37 Ty 81 & o & argew e s o farfa
(@ o=@ e
() udd s
(c) =
(d) =gerTeE
fFraftian el & & 98 o & 997 sifae
Lo (e) (@) (). (d)
2. (g), (). (2), (d)
3. (c) (d).(a) (&)
4. (e @) (d)(b)

Options:

64635047415, 1
64535047416, 2
64535047417, 2
4835047418 4

Question Number : 131 Question Id : 64635012049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : All academic libraries provide their services on mobile platform.

Beason (R) : Academic community demands more library services throngh mobile
app.

In the context of the above two statements, which one of the following is true?
1. Both(A) and (E) are true
2. Both(A) and () are false
3. (A)is false but (R)1s true
4. (A)is true but (R) is false

Options:
4535047419, 1

E4E35047420. 2
E4E35047421. 3
BAE3504742%. 4

Question Number : 131 Question Id : 64635012049 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i (A) o seEie ey gae Seed w® s S ST #0098

& (R) :ma‘?magmﬁmﬂqaamméaﬂ%mﬂmhﬁnh
w2

Iwea & FuHl & g H Fufefa f e e w wd 2
L (A RE)IATE
2. (A) WRR)SRITEER
3. (A) THERWG®R) TR
4 (A) WEIRGR)TEE

Options:

64635047419, 1
64535047420 2
64535047421 =
4835047422 4

Question Number : 132 Question Id : 64635012050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Students are among the most prolific users of social network sites

(SN5)

Feason (R) : Social network sites alwaws help in fulfilling their academic
information needs.

In the context of the above two statements, which one of the following is true?
1. ({A)is true but (R) is false
2. (A)is false bur (R)is true
3. Both(A)and (K) are false

4.  Both(A) and () are true

Options:

64535047423, 1
64535047424 2
64535047425 =
64535047426, 4

Question Number : 132 Question 1d : 64635012050 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HfiUe (A) | BT S A2as Wgel (SNS) & 7ed a8 wemat 7 8

% (R) . e dead W HERE ET F 999 yEweaH B @ w1 §
FHE HETa Fet

Sudfan 4 sl & ded | Peffa A3 s ad &
1. (&) FHEwg® T
2. (A) TEERGER) TRE
3. (A) MME)SEITEE
4. (&) MME)IFEAE

Options:



EdE35047423. 1
64535047424, 2
64535047425 3
64535047426, 4

Question Number : 133 Question Id : 64635012051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : ‘Big deal’ is a licensed package of joumnals that costs less to the
subscriber,

Feason (R) : The package usually includes some less relevant titles.
In the context of the above two statements, which one of the following is true?
1. (A) is true but (R) is false

2. {A)is false but (B} is true

(e

Both (A) and (R) are true
4. Both(A) and (R) are false

Options:

64535047427, 1
4835047428 2
4535047429 2
64535047420, 4

Question Number : 133 Question Id : 64635012051 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HftEE (A) - T S o B e Tead 0w & o TTee! $ o uw g 21

T (R) . U8 U STEIO $9 8 HEd a6 a4 St B &)
S & Al s ded AT A sha vl &7

1. (A) SRR R) TR

2. (A) TR W R)TE R

3. (A) SRE)EHIEEE

4. (A) SR (R) THITOd E

Options:

64535047427, 1
64535047428, 2
64535047429 =
4835047420 4

Question Number : 134 Question Id : 64635012052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Assertion (A) : E-Granthalava is a freelv available software.

Feason (R) : E-Granthalava can be customized depending om the requirement of
libraries.

In the context of the above two statements, which one of the following is true?
1. (A)is true but (R) is false
2. (A)is false but (R)is true
3. Both(A)and (R) are false
4. Both{A) and (K) are true

Options:

64535047431, 1
64535047432 2
E4E35047432 =2
64535047424, 4

Question Number : 134 Question Id : 64635012052 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HUFUE (A) : E-Tuer e TY E U Sivedi 2
% (R) : E-TUT T TSl 1 WS F HTER S A SH 2
Iuden & Byl & s A PffRe d S sEm sl &
. (A) WERIR) TR
2 (&) TR R) T
3. (A) SR(R) s TG E
4. (A) IME) ST

Options:

648350474311
4535047432 2
64535047422 5
64535047424 4

Question Number : 135 Question Id : 64635012053 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Non-participant observation technique is used as a primary data
collection tool.

Feason (B) : In non-participant observation technique, the researcher influences the
subject of the smudy to get primary data

In the context of the above two statements, which one of the following is true?
1. {A)is true but (R) is false
2. (A)is false but (R)is true
3 Both (A) and (R) are false
4.  Both{A) and (R) are true

Options:
64535047455 1
64535047426, 2



EAE35047437. 3
64535047438, 4

Question Number : 135 Question Id : 64635012053 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635047435, 1
64535047436, 2
64535047437 2
E4E35047428. 4

Question Number : 136 Question Id : 64635012054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Indian National Bibliography is not a comprehensive source of Indian
publications.

Reason (R) : National Library of India, Kolkata is entitled to receive one copy of
each Indian publication under Delivery of Books Act.

In the context of the above two statements, which one of the following is true?
1. (A)is true but (B) is false
2. ({A)is false but (R)is true
3. Both{A)and ()} are true

4. Both(A)and (R) are false
Options:
645350474359 1
64635047440 2
64535047441 5
E4E25047442 4

Question Number : 136 Question Id : 64635012054 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047439, 1
4835047440, 2
4535047441 =2
64535047442, 4

Question Number : 137 Question Id : 64635012055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the key salient features of ‘Private Library” from the following :

(a) A library gives access to general public
(b) A library belonging to an individual
(c) A library not supported bv taxation
(d) A library having statutory support
Choose the correct answer from the options given below :
1. (b} and (d) are comect
2. (a) and (b) are comrect
3. (b) and (c) are cormrect
4. (a) and (c) are correct

Options:

64535047443 1
64535047444 2
64535047445 o
64535047446, 4

Question Number : 137 Question Id : 64635012055 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535047443, 1
64535047444 2
64535047445 =
4835047446, 4

Question Number : 138 Question Id : 64635012056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following are included in the process of Big 6 Model of Information
Problem Solving Skills advocated by Camie A. Lowe and Michael B. Eisenberg?

(a) Task definition, information seeking strategies, location and address
(b)  Survey, feedback and compliance
{e) Use afinformation, synthesis, evaluation
(d) Analysing, prioritizing, reporting
Choose the correct answer from the options given below :
1. (a) and (b) are comect
2. (b) and (d) are comect
3. (a) and (c) are comrect
4. (c) and (d) are comect

Options:

64835047447, 1
4535047448 2
64535047449, 5
64535047450, 4

Question Number : 138 Question Id : 64635012056 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F U TS R A 91, 3 g Saftia gE 9 S S $ & 6 wisa
v & Fraftray 4 § @ afata 87

(a) T ahvdran, gEe A o, safRufe s am
(b) Ty Fisds AR U

(c) I W, e iR e

(d) ot . muftea &8 &1 SR fdid &

H2 g my Rewt § 4 a8 sw i
1. (a) M) a@tE
2. (b) AR () TEE

3. @R T
4. (o) AR (d)wE &

Options:

64535047447, 1
4535047448 2
64535047449 5
64535047450, 4

Question Number : 139 Question Id : 64635012057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tdentify the persons NOT associated with the development of UDC .

(a) 5.E. Eanganathan

(b) Paul Otlet

(c) H.E. Bliss

(d) Henry La Fontaine

Choose the correct answer from the aptions given below

1. (a) and (c) are comect

2. (a) and (b) are comect

3. (c) and (d) are comect

4. (b)) and (d) are comrect

Options:

4635047451, 1
64535047452 2
64535047453 =
64535047454 4

Question Number : 139 Question 1d : 64635012057 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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64535047454 4
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Question Number : 140 Question Id : 64635012058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the kev characteristics of "Augmented Reality” (AR) system in library settings
as identified by Sharon Maria S Esposo-Betan and Jonathan F. Santas in their studies :

(a) Combines real and virtual
(b) Non-reciprocative and non-interactive application
(¢) Begistered3D
(d) Interactivereal time
Choose the comect answer from the options given below :
1. (&), (b) and (c) are comrect
2. (b), (c)and (d) are comect
3. (a), (c) and (d) are comrect
4. (a), (b) and (d) are correct

Options:

64535047455, 1
64535047456, 2
64535047457 2
E4E35047458. 4

Question Number : 140 Question Id : 64635012058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047455, 1
64535047456, 2
4835047457 2
4535047458 4

Sub-Section Number: 2
Sub-Section I1d: 646350568
Question Shuffling Allowed : Yes

Question Id : 64635012059 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH



Read the passage given below and answer the gquestions based on your understanding
of the passage :

When vou travel around the world, vou see tremendous variation in the standard of living.
The average income in a rich country, such as the United States, Japan, or Gemmany, is more
than ten times the average income in a poor country, such as India Indonesia, or Nigeria
These large differences in income are reflected in large differences in the quality of life.
People in richer countries have better nutrition, safer housing, better healthcare, and longer
life expectancy as well as more automobiles, more telephones, and more televisions. Even
within a country, there are large changes in the standard of living over time. In the United
States over the past century, average income as measured by real GDP (gross domestic
product) per person has grown by about 2 percent per vear. Although 2 percent might seem
small, this rate of growth implies that average income doubles every 35 vears. Because of this
growth, most Amencans enjov much greater economic prospenty than did their parents,
grandparents, and great grandparents.

Growth rates vary substantially from country to country. In recent histery, some East Asian
countries, such as Singapore, South Korea, and Taiwan, have experienced economic growth
of about 7 percent per vear; at this rate, average income doubles every 10 vears. Over the past
two decades, China has enjoved an ewven higher rate of growth—about 12 percent per vear,
according to some estimates. A country experiencing such rapid growth can, in one
generation, go from being among the poorest in the world to being among the richest. By
contrast, in some nations in sub-Saharan Africa, average income has been stagnant for many
vears. Zimbabwe has had one of the worst growth experiences : From 1991 1o 2011, income
per person fell by a total of 38 percent.

What explains these diverse expenences? How can nch countres maintain their high
standard of living? What policies should poor countries pursue to promote more rapid growth
and jein the developed world? These are among the most important questions in
macreeconomics. As the Nobel-Prize-winning ecomomist Robert Lucas put it, “The
consequences for human welfare in questions like these are simplv staggering : Once one
starts to think abour them, it is hard to think about anyvthing else ”

Sub questions

Question Number : 141 Question Id : 64635012060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In USA, average income of a person is measured by

l.  average GDP

[

real GDP
3. GNP

4. direct tax index
Options:
E4525047459. 1
E4E25047460 2
64535047461 =
64635047462 4

Question Number : 142 Question 1d : 64635012061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The reason as to why Amencans enjov much greater economic prospenty than did their
parents is

1. growthin average income

2. betternutrition and health care

3. growthin gove jobs

4. growthin agriculture and its effective reform
Options:
E4E35047463. 1
E4E35047464. 2

64535047465, 3
64535047466, 4

Question Number : 143 Question 1d : 64635012062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The countrv which had experenced worst growth from 1991 to 2011 as income per
person fell by a total of 38 percent during the above periad is

1. Brazl

2. Zimbabwe

3. China

4. UsSA
Options:

64535047467, 1
E4E350474E68. 2
E4E35047469. 3
64535047470, 4

Question Number : 144 Question Id : 64635012063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The country which enjoved 2 higher rate of growth of 12% per vear according to some
estimates is

1. USA

2. Zimbabwe

3. Nigena
4. China
Options:

E4E35047471. 1
6435047472 2
64535047473, 3
64535047474, 4

Question Number : 145 Question Id : 64635012064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The subject domain in which Fobert Lucas has acclaimed recognition is
1. Chemistry
2. Nuclear Physies
3. Economics

4. Agriculmre

Options:

64635047475, 1
64535047476, 2
64535047477, 2
4835047478 4

Question Id : 64635012059 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cestion Label | Comprehiension
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Sub questions

Question Number : 141 Question Id : 64635012060 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35047459. 1
E4E35047460. 2
64535047461, 3
64535047462, 4

Question Number : 142 Question 1d : 64635012061 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
64635047463, 1
64535047464 2

64535047465, 3
64535047466, 4

Question Number : 143 Question 1d : 64635012062 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

EdE35047467. 1
E4E35047468. 2
645350474645, 3
64535047470, 4

Question Number : 144 Question 1d : 64635012063 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



F6 STAMI B HHR T T HI-9 0 ¢ wel W a9 12 Awa #1 g Rers o W@ 87

1. ZUEu

2, o

3. At

4 =
Options:

64535047471, 1
64535047472 2
E4E35047473. 3
EAE35047474. 4

Question Number : 145 Question Id : 64635012064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35047475. 1
EAE35047476. 2
BAE35047477. 3
64535047478, 4

Sub-Section Number: 3
Sub-Section Id: 646350569
Question Shuffling Allowed : Yes

Question Id : 64635012065 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



Read the following passage carefully and answer the questions based on your understanding :

Telecommunications (literally : communications at a distance) are always critical to human
society. Ewven in ancient times, govemments and military units relied heavily on
telecommunications to gather information and to issue orders. The first type was with
messengers on foot or on horseback; but the need to convey a short message over a large
distanee (such as one waming a city of approaching raiders) led to the use of fire and smoke
signals. Using signal mirrors to reflect sunlight (heliography) was another effective way of
telecommumnication. Its first recorded use was in ancient Greece. Signal mirmrors were also
mentioned in Marco Polo's account of his trip to the Far East. These ancient wvisual
communication technologies are amaringly enough, digital Fires and smobe in different
configurations would form different codewords. On hills or mountains mear Greek cities there
were also special personnel for such communications, forming a chan of regenerative
repeaters. In faet, fire and smeoke signal platforms still dot the Great Wall of China More
interestingly, reflectors or lenses, equivalent to the amplifiers and antennas we use today,
were used to directionally guide the light farther.

Warurally, these early visual communication systems were very tedious to set up and could
transmit only several bits of information per hour. A much faster visual communication
svstem was developed just over two centuries ago. Im 1793 Claude Chappe of France
invented and performed a series of experiments on the concept of ‘semaphore telegraph’. His
system was a series of signalling devices called semaphores, which were mounted on towers,
tvpically spaced 10 km apart. (A semaphore looked like a large human figure with signal
flags in both hands.) A receiving semaphore operator would transcribe visually, often with
the aid of a telescope, and then relay the message from his tower to the next, and so on. This
visual telegraph became the govemnment telecommunication svstem in France and spread to
other countries, including the United S5tates. The semaphore telegraph was eventually
eclipsed by electric telegraphy. Today, only a few remaining streets and landmarlkes with the
name ‘Telegraph Hill' remind us of the place of this svstem in history. Still, wisual
communications (via Aldis lamps, ship flags, and heliographs) remained an important part of
maritime communications well inte the twentieth century.

Sub questions

Question Number : 146 Question Id : 64635012066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Heliography was first used in
1.  Ancient Greece
2.  China
3. France

4. United States of America
Options:
64635047473 1
64535047450 2
E4E525047451. =
EAE25047452 4

Question Number : 147 Question Id : 64635012067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What is replaced by amplifiers and antennas in the present scenario?

1. PRegenerative repeaters
2, Telegraph

3. Smoke signal

4. Lenses

Options:

645350474583, 1
64535047454 2
64835047485 =2
45350474586, 4

Question Number : 148 Question Id : 64635012068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who conducted a series of experiments on "Semaphore Telegraph™?
1 Marco Polo
2. Claude Shannon
3 Claude Chappe
4. William Franeis

Options:

64635047487, 1
64535047488, 2
64535047459 =
4835047490 4

Question Number : 149 Question Id : 64635012069 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is heliography?
1. Using signal mirror to reflect sunlight
2. Commumnication with a messenger on foot or on horseback

Semaphore telegraph

ik

4. Maritime communication

Options:

64535047491, 1
64535047492 2
64535047493 =
64535047494 4

Question Number : 150 Question 1d : 64635012070 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What led the use of fire and smoke signals?
1. Large message over a short distance
2. Anabndged message to war fighters
3. Short message over a large distance
4.  Both short and large messages over a large distanee

Options:

64535047495, 1
64535047496 2
E4E35047497. 2
64535047495, 4

Question Id : 64635012065 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuesticon Label | Comprehension
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Sub questions

Question Number : 146 Question Id : 64635012066 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635047479, 1
64535047480, 2
645350474381, 2
4835047482 4

Question Number : 147 Question Id : 64635012067 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535047453 1
64535047454, 2
64535047485 =
GAR3E047456. 4

Question Number : 148 Question Id : 64635012068 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
C4E25047457 .1
CAEZEQd7ARE. 2

64535047459, 3
EAE35047430. 4

Question Number : 149 Question Id : 64635012069 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635047491, 1
E4E350474392 2
64535047492 5
64535047494 4

Question Number : 150 Question Id : 64635012070 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535047495, 1
64535047496, 2
64535047497 2
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